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Child Development and Pedagogy
1.	 The nature of relationship between development 

and learning is viewed by Lev Vygotsky as having 
which of the following characteristics?
(1)	 It is linear in nature
(2)	 The relationship is static in nature
(3)	 Learning often precedes development
(4)	 Development often precedes learning

2.	 The developmental theorists who view process 
of development as having substantial plasticity 
throughout life are likely to emphasize the 
importance of :
(1)	 Heredity
(2)	 Environment and experience
(3)	 Domain specific intelligence
(4)	 Crystallized intelligence

3.	 ‘Discontinuity’ in the developmental process refers 
to:
(1)	 New ways of understanding the world that 

emerge during the process of development.
(2)	 Negative breaks in the developmental process.
(3)	 A downward negative trend in development.
(4)	 Interference in the developmental process.

4.	 Authoritative style of parenting/child rearing is 
based on:
(1)	 Making decisions for the child
(2)	 Not listing to a child’s point of view
(3)	 Making unreasonable demands from the child
(4)	 Engage in joint decision making wherever 

possible
5.	 According to Jean Piaget, the process of 

developmental change takes place through which of 
the following specific cognitive functions?
(1)	 Experience and social transmission
(2)	 Assimilation and Accommodation
(3)	 Maturation and Experience
(4)	 Social transmission and maturation

6.	 A 5 year old child was given 10 pebbles by her 
teacher. She put the pebbles in different formations 
e.g. a short line, a long line and a circle. She counted 
these pebbles repeatedly. Which of the following 
cognitive schemas is she attempting to attain 
according to Jean Piaget?
(1)	 Seriation
(2)	 Transitive inference
(3)	 Nominal scale
(4)	 Conservation of numbers

7.	 According to Lev Vygotsky, the process of cognitive 
development is mediated by:
(1)	 Cultural Tools	 (2)	 Cultural Modes
(3)	 Cultural Signifiers	 (4)	 Cultural Derivatives

8.	 Development in ‘Zone of Proximal Development’ 
according to Lev Vygotsky can be facilitated through:
(1)	 Collaborative dialogues
(2)	 Observational learning
(3)	 Reversible thinking
(4)	 Expository learning

9.	 The stage 5 of post-conventional morality as given 
by Lawrence Kohlberg is marked by:
(1)	 A free agreement to follow a social contract for 

the benefit of humanity
(2)	 A free exploration of ethics even beyond social 

contract
(3)	 Formulation of moral rules that bypass ethics
(4)	 The need to appear to be ‘a good person’

10.	 A progressive educator need to embody which of 
the following attributes within a classroom:
(1)	 Empathy, control, care
(2)	 Empathy, control, discipline
(3)	 Empathy, realness, care
(4)	 Empathy, realness, control

11.	 Which of the following are major concerns about 
using the concept of Intelligence Quotient to 
measure Children’s intelligence?
(i)	 Instability of Score
(ii)	 Cultural bias in tests
(iii)	 Product –orientedness of tests
(iv)	 Labelling of children
(1)	 ii, iii, iv	 (2)	 i, ii, iii, iv
(3)	 i, ii, iv	 (4)	 i, iii, iv

12.	 An experience of intra-personal intelligence within a 
classroom according to Howard Gardner refers to:
(1)	 Ability to handle social situations well
(2)	 Ability to understand meaning and rhythms of 

others’ speech
(3)	 Knowledge of one’s own complex feelings, 

strengths and weaknesses
(4)	 Appreciation of aesthetics and beauty.

13.	 The role of a teacher within the classroom is to 
encourage children to express which of the following 
attitudes related to gender?
(1)	 Gender stereotyping
(2)	 Gender constancy
(3)	 Adopt socially acceptable gender roles
(4)	 Gender - stereotype flexibility

14.	 In a classroom where students have diverse learning 
profiles, a teacher needs to :
(1)	 Identify normative level of teaching
(2)	 Find creative ways of engaging with diverse 

learning pace of students
(3)	 Create special achievement and remedial 

sections
(4)	 Do ability groupings within classroom
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15.	 Formative assessment is generally used:

(1)	 To provide teachers with a rational basis for 
preparing tests /exam papers

(2)	 To help teachers plan better and provide 
supportive, non –evaluative feedback to students

(3)	 To help students develop good test taking skills
(4)	 To discriminate appropriately between ability 

levels of students
16.	 Multi-cultural Education is aimed at:

(1)	 Educational inequality for children form 
different cultures within a classroom.

(2)	 Educational equity for children form different 
cultures within a classroom.

(3)	 Showcasing dances / music of different cultures 
on specific occasions like annual day of school.

(4)	 Creating special sections in schools for children 
belonging to different cultures.

17.	 The education of learners from ‘disadvantaged’ 
and ‘deprived’ backgrounds can get negatively 
influenced by which of the following
(i)	 Stereotypes
(ii)	 Lack of understanding of Local Knowledge 

Systems
(iii)	 Top-down curriculum
(iv)	 Curriculum based on local culture and language
(1)	 (i) and (ii)	 (2)	 (i), (ii), and (iii)
(3)	 (i), (ii), (iv)	 (4)	 (i), (ii), (iii), (iv)

18.	 Creative thinking is not facilitated by which of the 
following:
(1)	 Originality	 (2)	 Tolerance of ambiguity
(3)	 Convergent thinking	 (4)	 Flexibility in thinking

19.	 A child with locomotion disability joins a primary 
school. Which of the following would not be a 
facilitative strategy for inclusion of the child within 
school?
(1)	 Provision of allocating class on the ground floor
(2)	 Empathy- building among peers
(3)	 Appropriate infrastructural modifications
(4)	 Showing sympathy for the lack of ability

20.	 Which of the following strategies would not be 
facilitative with respect to children who have 
specific hearing disabilities within regular schools?
(1)	 Relaxation in specific domains of learning, 

wherever possible
(2)	 Reasonable accommodation in curriculum
(3)	 Continual negative comments on errors 

committed
(4)	 Individualized educational planning

21.	 “Success” in schools should be broadened beyond 
specific academic achievement within school to 
include:
(1)	 Training given by coaching institutions.
(2)	 Development of socio – emotional capacities as 

an important part of education.
(3)	 Extra tests which can be done at home.
(4)	 Constant focus only on areas where a child is 

‘weak’.
22.	 Conceptual clarity can be said to have been achieved 

when a student can:
(1)	 Recall information given correctly
(2)	 Write down information correctly
(3)	 Clearly remember the definition of a concept
(4)	 Apply concepts learnt to real life situations

23.	 To enable children to become effective problem–
solvers it is critical that they are given opportunities 
to :
(1)	 Do experiments only in the format prescribed in 

the textbook
(2)	 Discover a concept through independent 

thinking
(3)	 Take extra tuitions wherever necessary
(4)	 Learn primarily through audio –visual aids and 

smart boards only
24.	 The errors that children make during the learning 

process can be:
(1)	 Used to ascertain their current ability and 

intelligence.
(2)	 Rectified immediately without feedback so that 

they are not repeated
(3)	 Seen as normal and acceptable part of cognitive 

development
(4)	 A distraction in the learning process and should 

be minimized quickly
25.	 What is the role of children’s emotions in learning?

(1)	 Emotions distract children from learning and 
therefore need to be controlled.

(2)	 There needs to be a clear disconnect between 
cognition and emotions of children for effective 
learning.

(3)	 Emotions give meaning to learning experiences 
and need to be integrated within learning 
process.

(4)	 Emotions make learning process ‘messy’ and 
unpredictable.

26.	 Children can be encouraged to become intrinsically 
motivated learners by:
(1)	 giving rewards for encouragement
(2)	 punishing them to avoid making mistakes
(3)	 learning form the mistakes made during learning 

process without any negative penalty
(4)	 encouraging teacher attention to performance 

by special achievers within a classroom
27.	 Which of the following characteristics are there in 

‘master oriented learners’?
(1)	 Low fear of failure, incremental view of ability
(2)	 High fear of failure, entity view of ability
(3)	 Low fear of failure, entity view of ability
(4)	 High fear of failure, incremental view of ability

28.	 Which of the following is a hindrance in effective 
problem-solving?
(1)	 Activating the right schema
(2)	 Response set
(3)	 Identification of the real problem
(4)	 Application of heuristics or general problem 

solving strategies
29.	 Encouraging students to compete among themselves 

in the classroom can have the following consequences. 
Which of these would you perceive to be harmful for 
a child’s growth?
(i)	 It creates ‘winners’ and ‘losers’ within a 

classroom
(ii)	 It increases the stress and anxiety level of 

students hampering their cognitive growth
(iii)	 It can create ‘star’ students within a classroom 

whose achievement can be source of pride for 
schools

(iv)	 It can prepare students to fit into the competitive, 
market based economics.

(1)	 (i), (ii)	 (2)	 (i), (ii), (iv)
(3)	 (i), (ii), (iii), (iv)	 (4)	 (ii), (iii), (iv)
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30.	 The process of meaningful learning needs to be 

mediated by:
(1)	 Personal philosophy and perspective of the 

learner
(2)	 The knowledge ‘received’ by the learner from 

the teacher
(3)	 The requirements of the curriculum geared 

towards summative assessment
(4)	 Based primarily on views of expert

Mathematics and Science

31.	 The number of composite numbers between 101 and 
120 is:
(1)	 13	 (2)	 14
(3)	 15	 (4)	 16

32.	 A rational number between −
5
6

3
8

 and  is:

(1)
	

−
7
8 	

(2)
	

−
8
9

(3)
	

1
3 	

(4)
	

5
6

33.	 If 504 = 2p × 3q × 7r, then what is the value of 
(2p + q – r)?
(1)	 5	 (2)	 6
(3)	 7	 (4)	 8

34.	 8 125 443 23 3� �  is equal to:

(1)	 50	 (2)	 40
(3)	 100	 (4)	 80

35.	 The LCM and HCF of two numbers are 1485 and 33, 
respectively. If one of the numbers is divided by 31, 
the quotient is 9 and the remainder is 18. What is the 
other number?
(1)	 165	 (2)	 198
(3)	 231	 (4)	 264

36.	 If x is subtracted from each of 26, 24, 56 and 49, 
then the numbers, so obtained in this order are in 

proportion. What is the value of
 

2 6
2

x −
?

(1)	 10	 (2)	 11
(3)	 12	 (4)	 15

37.	 A factor of common to both x2 + 7x + 12 and  
x2 – 5x – 36 is:
(1)	 x + 1	 (2)	 x + 3
(3)	 x + 4	 (4)	 x – 6

38.	 If 4
2 4

3
1
2

2 5
2 1

2
�

�
�

�( )
( )

x
x

x
 = , then is equal to

(1)	
2
3 	

(2)
	

5
2

(3)	 3	 (4)	 4

39.	 If (3x2 – 6x – 4) + (4x – 3 – x2) – (5 + x – 2x2) = 
(Ax2 + Bx – C), then what is the value of (A + B – C)?
(1)	 10	 (2)	 12
(3)	 –11	 (4)	 16

40.	 If x + y = 3 and x2 + y2 = 29, then what is the value 

of
 

1 1
x y

+ ?

(1)
	

3
29 	

(2)
	

−
3

10

(3)
	

−
1
5 	

(4)
	

3
10

41.	 The external and internal radii of a cylindrical pipe 
are 16 cm and 15 cm, respectively. The length of the 
pipe is 63 cm. What is the volume (in cm3) of the 

material used in making it?� Take � ��
�
�

�
�
�

22
7

(1)	 5940	 (2)	 6039
(3)	 6138	 (4)	 6820

42.	 The perimeter of a rhombus-shaped field is 400 m 
and the length of one its diagonals is 160 m. What is 
the area (in m2) of the field?
(1)	 1600	 (2)	 4800
(2)	 6400	 (4)	 9600

43.	 The perimeter of a trapezium is 188 cm and its area 
is 1625 m2. If the distance between the parallel sides 
is 25 cm, then what is sum of its non-parallel sides?
(1)	 36 cm	 (2)	 42 cm
(3)	 48 cm	 (4)	 58 cm

44.	 In DABC, AB = BC. Points D and E are on the side 
AC such taht AD = EC. Which of the following is 
correct?
(1)	 DABE ≅ DBCD	 (2)	 DABE ≅ DCBD
(3)	 DABE ≅ DBDC	 (4)	 DABE ≅ DDBC

45.	 The sum of all interior angles of a regular n sided 

polygon is 1800°. What is the value of 
n + 4

2
?

(1)	 6	 (2)	 7
(3)	 8	 (4)	 9

46.	 The number of faces, vertices and edges of a 
polyhydron A are x, 10 and 15, respectively and the 
number of faces, vertices and edges of polyhydron 
B are 12, y and 30, respectively. What is the value of 
(x + y)?
(1)	 24	 (2)	 25
(3)	 27	 (4)	 29

47.	 In DABC, the bisectors of ∠B and ∠C meet at a point 
D. If ∠BDC is 102°, then ∠A =
(1)	 24°	 (2)	 32°
(3)	 51°	 (4)	 78°

48.	 BD is diagonal of a rhombus ABCD. If ∠ADB = 50°, 
then the measure of ∠DCB is
(1)	 60°	 (2)	 75°
(3)	 80°	 (4)	 100°

49.	 Two dice are thrown simultaneously. What is the 
probability that the sum of the numbers appearing 
on them is at least 7?

(1)
	

4
9 	

(2)
	

7
12

(3)
	

1
3 	

(4)
	

5
18
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50.	 Let x be the median of the data below:
	 13, 14, 15, 11, 9, 9, 8, 7, 16, 15, 5, 6, 16, 25, 16, 23, 28, 

17
	 If 6 is replaced by 19 and 13 by 31 in the above data, 

then the median of the resulting data is y. What is 
the value of (3x – y)?
(1)	 26	 (2)	 27
(3)	 28	 (4)	 29

51.	 In order to incorporate Jean Piaget’s framework in 
teaching in mathematics, a teacher must
(1)	 initiate group discussions in the class.
(2)	 focus only on age-specific problem-solving task.
(3)	 schedule visits to the community.
(4)	 give enough manipulatives to work with in 

order to teach a concept.
52.	 Which of the following is NOT a characteristic of 

mathematic lesson planning?
(1)	 It makes teaching systematic and well organised.
(2)	 It helps students to develop the habit of 

undertaking immediate corrective measures.
(3)	 It helps teacher in developing insights about 

learning needs and abilities of children.
(4)	 It helps teachers to learn to foresee and tackle 

learning difficulties of children.
53.	 Which among the following is/are the features of an 

effective mathematics teacher?
a.	 Should be competent and confident in the 

subject matter.
b.	 Should be able to provide procedural knowledge 

to the students so that they can solve the 
problems.

c.	 Should be able to create a stimulating classroom 
environment conducive to learning.

d.	 Continues to investigates new mathematical 
knowledge and effective teaching strategies.

(1)	 a and d	 (2)	 a, b and c
(3)	 b, c and d	 (4)	 a, c and d

54.	 Which one of the following practice is NOT suitable 
for teaching Mathematics at upper primary level?
(1)	 Using mathematical laboratories
(2)	 Using mathematical games and puzzles
(3)	 Using open ended question
(4)	 Using only formal algorithms

55.	 After the class on ‘Ratio and Proportion’, Mr. Alok, 
a middle school mathematics teacher thought of 
conducting a diagnostic test to assess the students 
ability to identify situations of non-proportional 
thinking. Which of the following questions are most 
relevant to be inculded in this test?
(1)	 Sita and Soha are planting corns in the same 

farm. Sita plants 4 rows and Soha plants 6 rows. 
If Sita’s corn is ready in 8 weeks, how many 
weeks it will take for Soha’s corn to be ready?

(2)	 A school orders 3 cartons of milk for every 8 
students. If there are 624 studetns in the school, 
how many cartons of milk should be ordered?

(3)	 In a school the ratio of students to teachers is 
16 : 1. If there are 1248 students in a school, find 
the number of teachers

(4)	
4
6 15

 = 
x

 
find x.

56.	 A teacher uses the open-ended problems during 
teaching-learning process of mathematics. This 
practice helps to promote:
a.	 creative thinking
b.	 divergent thinking
c.	 equity in classroom
d.	 convergent thinking

	 Which one of the following is correct ?
(1)	 Only c	 (2)	 a & b
(3)	 a, b & c	 (4)	 b & d

57.	 Which among the following statements is/are 
correct:
a.	 Every mathematical concept gives rise to more 

mathematical concepts.
b.	 Mathematical ideas grows from abstract to 

concrete.
c.	 Mathematical ideas grows from particular to 

general.
(1)	 a and b	 (2)	 a and c
(3)	 b and c	 (4)	 Only a

58.	 In a given data, which one of the measures of 
central tendencies would be affected by one or two 
extremely large or extremely small values outside 
the range of the rest of the data?
(1)	 Median	 (2)	 Mean
(3)	 Mode	 (4)	 Frequency

59.	 An middle school Mathematics teacher uses 
following strategies in her geometry classes.
(i)	 Using a set of wedges of about 15° to measure 

variety of angles.
(ii)	 Overlapping cut outs of various angles to find 

out angles with equal measures.
(iii)	 Measuring a straight line segment using pencils 

of different lengths.
The pedagogy used by the teacher focuses on:
(1)	 Teaching angle sum property of polygons.
(2)	 Non-numerical comparison of angle sizes
(3)	 Introducing the concept of line and line segments
(4)	 Using measurement activities with non-standard 

units to introduce standard units of measurement 
later.

60.	 Activities are an important tool for learning in 
elementary school mathematics classrooms because:
(a)	 engaging in Activities encourages strategic 

mathematical thinking and development of 
computational fluency

(b)	 activities serve as motivation for students to 
practice and tool for teachers to assess the 
students.

(c)	 activities help teachers to complete the syllabus 
in time.

(d)	 lot of free periods in time-table can be utilised 
through activities.

Choose the correct option:
(1)	 (a) & (c)	 (2)	 (a) & (b)
(3)	 (b), (c) and (d)	 (4)	 (b) & (d)

61.	 How many images will be formed if you stand 
between two plane mirrors positioned parallel to 
each other in a trial room of a garment shop?
(1)	 Two	 (2)	 One
(3)	 Four	 (4)	 Infinite
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62.	 A piece of copper is put in a test tube containing 

Hydrochloric acid. Which of the following 
statements will be true?
(1)	 No reaction takes place
(2)	 Reaction is slow
(3)	 “Pop Up” sound is heard
(4)	 Colour of solution changes

63.	 It is observed that a copper vessel gets corroded in 
rainy season to give
(1)	 reddish brown coating of copper dioxide and 

copper hydroxide
(2)	 greenish coating of copper hydroxide and 

copper carbonate
(3)	 white coating of copper carbonate and copper 

oxide
(4)	 green coating of copper sulphite and copper 

carbonate
64.	 Which of the following household substances will 

turn red litmus blue?
(a)	 Baking soda	 (b)	 Vinegar
(c)	 Lemon juice	 (d)	Bleach
(1)	 a, b	 (2)	 b, c
(3)	 a, c	 (4)	 a, d

65.	 Identify the pair of materials that burns with a 
flame:
(1)	 Camphor, Magnesium	(2)	 Camphor, Coal
(3)	 Coal, Kerosene	 (4)	 Kerosene, Charcoal

66.	 Which of the following statements is/are always true 
about the process of cloning?
A.	 It is possible only in animals.
B.	 It results in exact replication of a cell, a living 

part or an organism.
C.	 It results in a large number of off-springs.
(1)	 A & B	 (2)	 Only B
(3)	 B & C	 (4)	 Only A

67.	 Read the following carefully and choose correct 
option:

	 Assertion (A): A plastic bottle, half filled with boiling 
water and tightly capped, thereafter gets crushed 
when allowed to rest for some time.

	 Reason (R): Air pressure decreases with decrease in 
temperature in the bottle.
(1)	 Both A & R are correct and R is correct 

explanation for A
(2)	 Both A & R are correct but R is not correct 

explanation for A
(3)	 A is correct but R is not correct
(4)	 Both A and R are not correct

68.	 Choose the incorrect statement:
(1)	 Magnets lose their properties on heating.
(2)	 Bar magnets should be kept in pairs with their 

unlike poles on the same side.
(3)	 Similar poles of magnets repel each other.
(4)	 Nickel and Cobalt do not get attracted by 

magnet.
69.	 An object is placed in front of a convex lens in such 

a way that its real and magnified image is formed 
on the other side. If the top half of the convex lens is 
covered with a black/opaque paper then:
(1)	 the image magnification will be reduced.
(2)	 the top half of the image will vanish.
(3)	 the bottom half of the image will vanish.
(4)	 the sharpness of the image will be reduced.

70.	 A car that can travel at a maximum speed of  
120 km/hr takes 7 hours 45 minutes to cover a 
distance of 372 km. What is the difference between 
the maximum and the average speed of this car?
(1)	 40 km/hr	 (2)	 48 km/hr
(3)	 72 km/hr	 (4)	 120 km/hr

71.	 Which of the following statement is incorrect  in the 
context of earthquakes?
(1)	 Most earthquakes are caused by sudden slipping 

of tectonic plates and by volcanic eruptions.
(2)	 An earthquake of the magnitude of 3.0 on 

Richter scale can trigger a tsunami.
(3)	 A major earthquake is generally followed by 

tremors in the same area.
(4)	 Study of earthquakes is known as Seismology.

72.	 Three objects A, B and C having different densities 
but same size are put in a liquid. Consider the 
following situations and arrange these in ascending 
order of buoyant force acting on each of the objects.
(i)	 A is completely submerged in liquid.

(ii)	 B floats which 
1
4

�
�
�

�
�
�

th

 
of its volume inside the 

liquid.

(iii)	 C floats with 
1
2

�
�
�

�
�
�

th

 
of its volume inside the 

liquid.
(1)	 B < C < A	 (2)	 B = C > A
(3)	 A < C < B	 (4)	 A = B = C

73.	 The major reason for using Bakelite for handles of 
pressure cooker is that
(1)	 it is bad conductor of heat.
(2)	 it is bad conductor of electricity.
(3)	 it is unbreakable
(4)	 it is light in weight

74.	 The vitamins which also act as anti-oxidants are:
(1)	 A, B and D	 (2)	 A, C and E
(3)	 D, B and C	 (4)	 D, E and K

75.	 The following table depicts the presence or absence 
of certain cell organelles in three cells A, B, C. What 
could A, B, C be?

Part of a cell A B C

Cytoplasm 3 3 3

Nucleus 3 3 3

Cell wall 3 7 3

Cell membrane 3 3 3

Chloroplast 3 7 7
(1)	 A-Plant Cell; B-Animal Cell; C-Plant Cell
(2)	 A-Animal Cell; B-Plant Cell; C-Animal Cell
(3)	 A-Plant Cell; B-Animal Cell; C-Animal Cell
(4)	 A-Plant Cell; B-Plant Cell; C-Animal Cell

76.	 Consider the following statements and choose the 
correct option:
A.	 Measles is caused by Bacteria
B.	 Malaria is caused by Plasmodium
C.	 Typhoid is caused by Bacteria
D.	 Leprosy is caused by Virus
(1)	 A, C	 (2)	 B, C
(3)	 B, C, D	 (4)	 A, C, D
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77.	 Read the following statements and choose the 

correct option:
S1:	Hen exhibits external fertilization
S2:	Hen is an oviparous animal
(1)	 Both S1 & S2 are true
(2)	 S1 is true but S2 is false
(3)	 S2 is true but S1 is false
(4)	 Both S1 & S2 are false

78.	 Read the following statements and choose the 
correct option:

	 Assertion (A): A bird like owl can see very well in 
night but not during day.

	 Reason (R): Night birds have a few cones and a large 
number of rods in the retina.
(1)	 Both A & R are true and R is correct explanation 

of A
(2)	 Both A & R are true but R is not correct 

explanation of A
(3)	 A is true but R is false
(4)	 Both A and R are false

79.	 Increasing the consumption of which of the following 
would help you increase the level of carbohydrate in 
you body?
(1)	 Maize	 (2)	 Pea
(3)	 Soyabean	 (4)	 Groundnut

80.	 Read the following statements and choose the 
correct option.

	 Assertion (A): The speed of sound is more on a hot 
summer day than on a cold winter day

	 Reason (R): The density of hot air is less than the 
density of cold air.
(1)	 Both A and R are true and R is correct explanation 

for A.
(2)	 Both A and R are true but R is not the correct 

explanation for A.
(3)	 A is true and R is not true.
(4)	 A is not true and R is true.

81.	 Which of the following is NOT  true about 
‘observing’ in science?
(1)	 It involves seeing, tasting, touching, listening 

and smelling
(2)	 It focuses on telling “what it is”
(3)	 It gives unbiased truths about natural phenomena
(4)	 It helps in gathering first hand data about a 

phenomenon
82.	 According to the NCF-2005 Position Paper on 

Teaching of Science, which of the following is an 
important and transferable skill that helps the 
children in ‘learning to learn’ science?
(1)	 Ability to learn scientific facts
(2)	 Ability to recall the formulae to solve problems
(3)	 Ability to undestand the process of scientific 

inquiry
(4)	 Ability to recall the contributioons of great 

scientists
83.	 What do we mean when we say that scientific 

knowledge is tentative?
(1)	 That the current scientific theories are 

undependable or flimsy
(2)	 That scientific knowledge is not reliable and 

durable
(3)	 That existing scientific knowledge is subjected to 

revision in the light of new evidence
(4)	 That scientific knowledge is generally fixed and 

eternal

84.	 While teaching the topic ‘Electricity’ in class VIII, the 
teacher commented, “Thomas Edison experimented 
thousands of times before he successfully found a 
material suitable to be used as a filament of a light 
bulb”.

	 Which of the following aspects is the teacher 
highlighting above?
(1)	 Subjectivity in Science
(2)	 Tentativeness of Science
(3)	 Empirical nature of Science
(4)	 Cultural embeddedness of Science

85.	 A teacher can inculcate the essence of the scientific 
enterprise among students by all of the following 
practices, EXCEPT:
(1)	 Students should be made convergent with 

multiple methods of science.
(2)	 Nature of science to be made an integral part of 

teaching-learning.
(3)	 Students must be required to memorize facts and 

reproduce when needed.
(4)	 Historical aspects of the development of scientific 

concepts should be emphasized.
86.	 Which among the following is the most important 

consideration for organising remedial teaching?
(1)	 Paying attention to individual rate of progress
(2)	 Inclusion of several group activities
(3)	 Completion of entire syllabus
(4)	 Paying attention to the examination pattern

87.	 Reena found that during a class test, most of the 
students had responded incorrectly to a concept-
based question.

	 Which of the following strategies can help in 
addressing this issue?
(1)	 Motivate students to read, understand and learn 

well
(2)	 Arrange a PTM and ask parents to encourage 

students to prepare well for next exams
(3)	 Teach the concept again
(4)	 Search for conceptual gaps and teach the concept 

accordingly
88.	 Read the following statements and choose the 

correct option.
	 Assertion (A): Demonstration of discrepant events 

helps in addressing misconceptions.
	 Reasoning (R): Discrepant events create cognitive 

conflict for conceptual change
(1)	 Both A and R are correct and R gives explanation 

for A
(2)	 A is correct but R is not correct
(3)	 Both A & R are correct but R is not explanation 

for A
(4)	 Both A & R are incorrect

89.	 A teacher and her group of students, while carrying 
out an activity on seed germination, planted seeds in 
different conditions and founded that dry seeds did 
not grow. The teacher posed the following questions 
to students:
l	 Why do you think these seeds are not growing?
l	 What can be done to make them grow?

	 Which of the following skills is the teacher trying 
to develop among the students through these 
questions?
(1)	 Observing	 (2)	 Hypothesising
(3)	 Predicting	 (4)	 Question-raising
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90.	 Which of the following statements are correct 

regarding assessment in science?
A.	 Continuous assessment dilutes teaching-learning
B.	 It is impractical to record each task of each student
C.	 Qualitative criteria help in meaningful 

assessment
D.	 Every concept need not be tested
(1)	 A, B	 (2)	 C, D
(3)	 B, C	 (4)	 A, D

Language: English
Direction (91-99): Read the passage given below and answer 
the questions by choosing the correct/most appropriate options.
There are no secrets in science. One can do and know all 
that a scientist does and knows. One does not need to 
have any faith in him as an individual and accept what 
he says without questioning it. The only thing a scientist 
asks of one is to base ones characterizes a child on whom 
society has not yet imposed its beliefs and prejudices, in 
fact, science is nothing more than questions asked and 
questions answered, and the method of science, no more 
than a method of asking questions and answering them, 
a method that "works" and can be used to solve problems 
that one faces in everyday life.
Science is indeed, far more than just physics, chemistry, 
biology, astronomy and mathematics. It is a question 
of ideas and a way of thinking. It is a culture and a 
philosophy of life, a philosophy which allows us to 
purpose truth without any prejudgement. What, then, 
is this attitude of mind, this culture and this philosophy 
of life? It turns out that all these and other-concomitants 
and attributes of science emanate primarily from the 
method that science uses to acquire knowledge. Certain 
characteristics of this method, which we call "The 
method of science", and of knowledge gained by the 
application of this method, create a value system within 
their framework, a value system which is rational and 
reasonable, which appeals to common sense, which is 
commensurate with knowledge and, above all which 
has a build-in corrective. It, therefore, becomes especially 
important to understand the basis of the method of 
science, and at the value system of science, so that we 
may understand the culture. One does not need to have 
any faith in him as an individual and accept what he says 
without questioning it
91.	 Read the following sentences:

(A)	An individual should not have any faith in a 
scientist.

(B)	A scientist desires questioning based on simple 
reasoning.

(1)	 A is false B is true	 (2)	 A is true B is false
(3)	 Both A and B are true	(4)	 Both A and B are false

92.	 What type of reason is NOT highly required in a 
scientific enquiry?
(1)	 Untempered
(2)	 Uninhibited
(3)	 One free from any previous belief
(4)	 That of a highly educated and prejudiced mind

93.	 Study the following statements
(A)	Scientific method means asking questions and 

speaking their answers
(B)	Everyday problems of life may not be solved by 

the scientific method
(1)	 (A) is right and (B) is wrong
(2)	 (B) is right and (A) is wrong

(3)	 Both (A) and (B) are right
(4)	 Both (A) and (B) are wrong

94.	 Science, according to the author is more than
(1)	 a philosophy of life
(2)	 disciplines of knowledge
(3)	 questions of ideas
(4)	 a way of thinking

95.	 Which of the following is not a true statement?
(1)	 Rationality is an important basis of scientific 

method
(2)	 Value system is based on reasoning and appeals 

to one's common sense
(3)	 The attitude of mind cannot be understood by 

methods of science
(4)	 Understanding philosophy of life is essence of 

science
96.	 Which part of speech is attributed to the underlined 

words in the following sentence?
	 "What then is this attitude of mind, this culture and 

this philosophy of life"
(1)	 Adverb	 (2)	 Adjective
(3)	 Pronoun	 (4)	 Article

97.	 Choose the word which means the same as 
"untempered" as used in the given passage
(1)	 Ill-tempered	 (2)	 Unwanted
(3)	 Logical	 (4)	 Irrational

98.	 Most appropriate antonym of the word "prejudiced" 
is:
(1)	 deferential	 (2)	 indifferent
(3)	 detrimental	 (4)	 preconceived

99.	 Which part of the given sentence shows an error?

	
"The

 
methods of science

(A)  
are no more than a method

(B)  
of

  
asking

(C)  
questions and answering”

(D)
(1)	 A	 (2)	 B
(3)	 C	 (4)	 D

Direction (100 to 105): Read the stanza given below and 
answer the questions/complete the statements that follow with 
the help of given options.
My mistress bent that brow of hers;
Those deep dark eyes where pride demurs
When pity would be softening though,
Fixed me a breathing while or twos
With life or death in the balance right!
The blood replenished me again;
My last thought was at least not vain:
I and my mistress, side by side
Shall be together, breathe and ride,
So, one day more am I deified,
Who knows next but the world may end to-night?
100.	Study the following statements:

(a)	 The lover's fate hangs in balance
(b)	 The beloved is easily persuaded
(c)	 Her pride stands in the way of her lover's success
(d)	There is a conflict between pride and pity
(1)	 (a) and (b) are both correct
(2)	 (b) and (c) are both correct
(3)	 (c) and (d) are both correct
(4)	 (a) and (b) are both wrong

101.	(1) The poet is a dejected lover
(2)	 He loses heart very soon
(3)	 He knows that ultimately he will win her love
(4)	 His request is a matter of life and death for him
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102.	What was the poet's last thought?

(1)	 his request for a ride together
(2)	 that his beloved would accept his love
(3)	 that she would raise her beautiful brow
(4)	 that his breathing would start again 

103.	'am I deified' the figure of speech used in the 
expressions is
(1)	 Simile	 (2)	 Metaphor
(3)	 Personification	 (4)	 Imagery

104.	'with life and death in the balance' the figure of 
speech I the expression is:
(1)	 Simile	 (2)	 Metaphor
(3)	 Hyperbole	 (4)	 Personification

105.	Study the following statements:
(a)	 At the end the lover feels that he is in Heaven.
(b)	 At least his one request has been granted.
(1)	 (a) is right and (b) is wrong
(2)	 (b) is right and (a) is wrong
(3)	 Both (a) and (b) are right
(4)	 Both (a) and (b) are wrong

106.	Language is .................. .
(1)	 system of structures
(2)	 communication system
(3)	 a rule governed system
(4)	 a scientific system

107.	A teacher does actions which learners follow as 
directed and learners are not expected speak or 
produce language. What is this method knows as?
(1)	 Imitation method
(2)	 Total Physical Response
(3)	 Dramatics
(4)	 Communicative approach

108.	How many languages are listed in 8th schedule of 
the Indian Constitution?
(1)	 22 languages	 (2)	 18 languages
(3)	 26 languages	 (4)	 1,179 languages

109.	A classroom make the learners notice language 
through various means viz, on the wall, class library, 
audio and video. What should this be described?
(1)	 Language acquisition
(2)	 Language comprehension
(3)	 Input rich environment
(4)	 Language practice through senses

110.	Skimming a text means .................. .
(1)	 reading for specific details
(2)	 reading aloud the text
(3)	 reading for information
(4)	 reading for general meaning

111.	'Use of vocabulary, pronunciation and grammar' are 
.................. .
(1)	 Informal langauge inputs.
(2)	 form oriented langauge inputs.
(3)	 meaning oriented language inputs
(4)	 linguistics oriented langauge inputs

112.	What is productive vocabulary?
(1)	 Words that we use in writing and speaking.
(2)	 Words which we recognize when someone 

speaks.
(3)	 Words which we notice while reading.
(4)	 Words which we do not understand.

112.	What is productive vocabulary?
(1)	 Words that we use in writing and speaking.
(2)	 Words which we recognize when someone 

speaks.

(3)	 Words which we notice while reading.
(4)	 Words which we do not understand.

113.	Procedural knowledge helps learners .................. .
(1)	 learn the knowledge about language
(2)	 learn the form first and use it later
(3)	 apply the rules of grammar in communication
(4)	 master the rules of grammar of a language

114.	Which appraoch to writing could be stated as 
learning to write by writing?
(1)	 Product approach
(2)	 Process approach to writing
(3)	 Dictation
(4)	 Summarising

115.	Which of the following is an extrapolative writing 
task?
(1)	 Imagine you are the boy in the story write a 

letter to your friend describing your experience 
of the journey in which you met a stranger.

(2)	 Fill out the railway ticket reservation form to go 
to Nagpur.

(3)	 Read the poem as many times as possible and 
write the summary of the poem.

(4)	 Write the autobiography of a tree.
116.	'Embedding the pedagogy into the materials' is 

.................. .
(1)	 content validity of the materials
(2)	 reliability of the materials
(3)	 pedagogical understanding of the teacher
(4)	 pedagogical realization of materials

117.	A teacher organizes the following activity every 
day –

	 Divides the class into groups of five and gives some 
day-to-day functions/themes for conversation in the 
groups and later she picks up one from each group 
and asks the group to converse as a whole class 
activity. What is she attempting to promote?
(1)	 Basic Interpersonal Communicative Skills (BICS)
(2)	 Cognitively Advanced Langauge Proficiency 

(CALP)
(3)	 Discourse competency
(4)	 Group Discussion

118.	Assessment designed to monitor and improve 
students' progress during the teaching-learning 
process.
(1)	 Assessment of learners
(2)	 Assessement for learning
(3)	 Assessment of learning
(4)	 Assessment as learning

119.	National Education Policy 2020 recommends the 
study of classical languages as .................. .
(1)	 a language within the three language formula
(2)	 as a compulsory language
(3)	 an additional option
(4)	 as a second language

120.	A teacher organizes her class into the pair and gives 
a story of 18 sentences. One of the pairs has odd 
sentences (sentences 1, 3, 5, ...) printed and other 
sentences blank while the other has even sentences 
(sentences 2, 4, 6, ...) and odd sentences blanks. 
Students in pairs have to read out the sentences 
mutually to each other and write to complete the 
story. This involves listening, speaking, reading and 
writing. What is this task known as?
(1)	 Mutual dictation	 (2)	 Group dictation
(3)	 Sentence dictation	 (4)	 Paragraph dictation
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Language: Hindi

funsZ'k (121-128): uhps fn, x, x|ka'k dks i<+dj iwNs x, ç'uksa ds 
lcls mi;qä mÙkj okys fodYi pqfu,µ

fo|kyksyqi phuh lU;klh ukyUnk dh HkO;rk vkSj ifo=rk ns[kdj yV~Vw 
gks x;kA Å¡p&Å¡ps fogkj vkSj eB pkjksa vksj [kM+s FksA chp&chp esa 
lHkkx`g vkSj fo|ky; cus gq, FksA os lc lekf/k;ksa] eafnjksa vkSj Lrwiksa 
ls f?kjs gq, FksA muds pkjksa rjQ ckS¼ f'k{kdksa vkSj çpkjdksa ds jgus 
ds fy, pkSeaftyk bekjrsa cuh gqbZ FkhaA muds flok Å¡ph&Å¡ph ehukjksa 
vkSj fo'kky Hkouksa esa ukuk çdkj ds cgqewY; jRu tM+s gq, FksA jax&fcjaxs 
njotksa] dfM+;ksa] Nrksa] vkSj [kEHkksa dh jktkoV dks ns[kdj yksx grçHk 
jg tkrs FksA fo|k eafnjksa ds f'k[kj vkdk'k ls ckrsa djrs FksA
fo'kkyrk] fu;ec¼rk] vkSj lqçcU/k fopkj ls ukyank dk fo'ofo|ky; 
orZeku dk'kh dh vis{kk vkWDlQksMZ ls vf/kd feyrk tqyrk FkkA 
fo'ofo|ky; ds fogkjksa esa dksbZ nl gtkj fHk{kq fo|kFkhZ vkSj Ms<+ 
gtkj v/;kid jgrs FksA blls laca/k j[kus okyk iqLrdky; ukSeaftyk 
Fkk] ftldh Å¡pkbZ djhc rhu lkS QhV FkhA bls egkjkt ckykfnR; us 
cuok;k FkkA blesa ckS¼ /keZ laca/kh lHkh xzaFk FksA çkphudky esa bruk 
cM+k iqLrdky; 'kk;n gh dgha jgk gksA
121.	ukyUnk fo'ofo|ky; esa iqLrdky; dk fuekZ.k djok;k Fkkµ

(1)	 ckykfnR; us	 (2)	 xqIr 'kkldksa us
(3)	 foØekfnR; us	 (4)	 ckS¼ fHk{kqvksa us

122.	ukyUnk fo'ofo|ky; esa pkSeaftyk bekjrsa fdlds fy, cuh Fkha\
(1)	 ckS¼ fHk{kqvksa ds fy,	
(2)	 fHk{kq fo|kfFkZ;ksa ds fy,
(3)	 ckS¼ f'k{kdksa vkSj çpkjdksa ds fy,	
(4)	 'kkldksa ds fy,

123.	ukyUnk fo'ofo|ky; fdlls feyrk&tqyrk Fkk\
(1)	 dk'kh fo'ofo|ky; ls	 (2)	 vkWDlQksMZ fo'ofo|ky; ls
(3)	 r{kf'kyk fo'ofo|ky; ls	 (4)	 foØef'kyk fo'ofo|ky; 

ls

124.	phuh lU;klh ukyUnk dh ----------- ns[kdj yêw gks x;kA
(1)	 HkO; bekjr dks	 (2)	 lekf/k;ksa vkSj eafnjksa dks
(3)	 Nrksa vkSj [kEHkksa dks	 (4)	 HkO;rk vkSj ifo=rk dks

125.	^pkSeaftyk* esa lekl gSµ
(1)	 deZ/kkj;	 (2)	 f}xq
(3)	 cgqozhfg	 (4)	 rRiq#"k

126.	^yêw gksuk* eqgkojs dk D;k vFkZ gSµ
(1)	 ikxy gksuk	 (2)	 vk'p;Zpfdr gksuk
(3)	 dk;y gksuk	 (4)	 ?kk;y gksuk

127.	^fo|kyksyqi* dk 'kkfCnd vFkZ gksxkµ
(1)	 ykyph	 (2)	 çfrHkk'kkyh
(3)	 fo}ku	 (4)	 ftKklq

128.	^vkdk'k ls ckrsa djuk* eqgkojs dk vFkZ gSµ
(1)	 vlaHko dk;Z gksuk	 (2)	 vR;ar vk'p;Ztud gksuk
(3)	 cgqr Å¡pk gksuk	 (4)	 vfr'k;ksfDriw.kZ gksuk

funsZ'k (129-135): uhps fn, x, x|ka'k dks i<+dj iwNs x, ç'uksa ds 
lcls mi;qDr mÙkj fodYi dks pqfu,µ

Lokoyacu ds vusd ykHk gSaA Lokoyach euq"; esa vusd xq.k Lor% gh 
vk tkrs gSa] tSls&vkRefo'okl] vkRelEeku] n`<+ ladYi] lkgl] /kS;Z 
rFkk vkRecyA Lokoyach euq"; dHkh fujk'kk ds xrZ esa ugha fxjrk] 
vfirq lnSo vk'kkoku cuk jgrk gSA og vius HkkX; dk vius gkFkksa ls 
fuekZ.k djrk gqvk dgrk gSµ ^viuk gkFk txUukFk*A vkRefuHkZjrk ls 

dk;jrk] Hk;] la'k;] vkyL; rFkk fpark nwj gks tkrh gSA blls O;fDr 
vusd d"Vksa ,oa ck/kkvksa dks in&nfyr djrk gqvkA
daVdkdh.kZ ekxZ ij fuHkZjrkiw.kZ vkxs c<+rk tkrk gSA og Hkyh&Hkk¡fr le> 
ysrk gS fd og euq"; gS rFkk mlesa bZ'oj us vusd xq.kksa dh l`f"V dh gSA vr% 
fujk'k gksuk mldk /keZ ughaA mls ;g Hkyh&Hkk¡fr le>uk pkfg, fd fujk'kk 
ds {k.kksa esa Hkh mls vkRefo'okl ,oa vkRecy dk R;kx ugha djuk pkfg,A
129.	Lokoyach euq"; dk xq.k ugha gSµ

(1)	 vkRefo'okl	 (2)	 n`<+ ladYi
(3)	 /kS;Z	 (4)	 la'k;

130.	vkRefuHkZjrk ls nwj gks tkrs gSaµ
(1)	 dk;jrk] la'k;] fpark]	 (2)	 dk;jrk] fparu] la'k;]
(3)	 fparu] vkyL;] Hk;]	 (4)	 vkyL;] Hk;] fparu]

131.	Lokoyach euq"; esa vusd xq.kksa dh l`f"V fdlus dh gS\
(1)	 Lo;a euq"; us	 (2)	 bZ'oj us
(3)	 xq# us	 (4)	 d"Vksa o ck/kkvksa us

132.	^in&nfyr* esa lekl gSµ
(1)	 rRiq#"k	 (2)	 deZ/kkj;
(3)	 }a}	 (4)	 vO;;hHkko

133.	^lnSo* dk lfU/k&foPNsn gSµ
(1)	 lnk + ,o	 (2)	 ln~ + ,so
(3)	 ln + ,o	 (4)	 lr~ + ,so

134.	fdl 'kCn esa ^rk* çR;; dk ç;ksx ugha gSµ
(1)	 nklrk	 (2)	 ekrk
(3)	 fuHkZjrk	 (4)	 ik=rk

135.	Lokoyach O;fDr ls D;k visf{kr ugha gSµ
(1)	 Lo;a esa fo'okl	 (2)	 fuHkhZd gksuk
(3)	 vkRefuHkZjrk	 (4)	 vkRecy dk R;kx

136.	jk"Vªh; f'k{kk uhfr ----------- ds v/;;u dh odkyr djrh gSA
(1)	 laLÏr] fgUnh] vaxzsth] rFkk vk/kqfud Hkkjrh; Hkk"kk,¡A
(2)	 ekr`Hkk"kk] vaxzsth] jkT; dh Hkk"kk] laLÏr] ikfy] çkÏr] rFkk 

tutkrh; rFkk NksVs&NksVs leqnk;ksa esa cksyh tkus okyh Hkk"kk,¡A
(3)	 lewph fo|ky;h f'k{kk esa vaxzsth ,d v/;;u ds :i esaA
(4)	 ekr`Hkk"kk@?kj dh Hkk"kk] 'kkL=h; Hkk"kk,¡] vk/kqfud Hkkjrh; 

Hkk"kk,¡ rFkk fons'kh Hkk"kk,¡A
137.	,d cPph vius ekrk&firk ds lkFk fcgkj ls eqEcbZ vkrh gS rFkk 

og fo|ky; esa fgUnh] laLÏr] rFkk vaxzsth lh[krh gS rFkk vius 
iM+ksl ,oe~ fo|ky; esa vius fe=ksa ls ejkBh Hkk"kk cgqr vPNs ls 
lh[krh gSA

	 vki ejkBh lh[kus dk fdl :i esa of.kZr djsaxs\
(1)	 Hkk"kk vtZu	 (2)	 Hkk"kk vf/kxe
(3)	 lgkjk nsuk	 (4)	 ifjdYiuk fuos'k

138.	fdlh f'k{kkFkhZ dks ,d ikB~; lkexzh i<+rs le; dqN ladsr feyrs 
gSa tks mls vFkZ xzg.k dh çfØ;k esa enn djrs gSaA ;g fdl :i 
esa tkuk tkrk gS\
(1)	 ljljh n`f"V ls i<+uk	 (2)	 ckjhdh ls i<+uk
(3)	 vFkZxr ladsr	 (4)	 lwokRed ladsr

139.	Jo.k dh fdl çfØ;k esa eq[; fopkj le>uk] vuqeku yxkuk 
fu"d"kZ vkjsf[kr djuk rFkk lkjka'k fy[kuk lfEefyr gS\
(1)	 Å/oksZUeq[kh Jo.k çfØ;k,¡	 (2)	 lwpuk ds fy, Jo.k
(3)	 v/kkseq[kh Jo.k çfØ;k,¡	 (4)	 lwpukRed Jo.k

140.	laKk,¡] fØ;k,¡] fo'ks"k.k] fØ;k&fo'ks"k.k ----------- ds :i esa 
oxhZÏr fd, x, gSaA
(1)	 fo"k;oLrq ds 'kCn	 (2)	 fØ;k 'kCn
(3)	 fuf"Ø; 'kCn&lEink	 (4)	 lfØ; 'kCn&lEink
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141.	lajpukvksa ds ckjs esa Kku] rFkk bls lhfer vH;kl }kjk of.kZr 
djuk o fØ;kfUor djukµ
(1)	 dk;Zfof/kd Kku gSA	 (2)	 ?kks"k.kkRed Kku gSA
(3)	 O;kdj.k vuqokn çfØ;k gSA	(4)	 Hkk"kk çfØ;k,¡ gSA

142.	^çkÏfrd Hkk"kk esa lanHkZ ls iBu lkexzh dk L=ksr* ----------- gSA
(1)	 cukoVh iBu lkexzh	
(2)	 lkfgfR;d dk;Z
(3)	 ikB~; iqLrd ds ys[kdksa }kjk fodflr iBu lkexzh
(4)	 çkekf.kr iBu lkexzh

143.	fuEufyf[kr esa ls dkSu&lk Hkk"kk vkdyu ds ckjs esa lgh gS\
(1)	 f'k{kkfFkZ;ksa dh miyfC/kA
(2)	 f'k{kkfFkZ;ksa ds O;kdjf.kd Kku dk vkdyu djukA
(3)	 f'k{kkfFkZ;ksa dh Hkk"kk;h fuiq.krk dk vkdyu djukA
(4)	 ;g irk djuk fd f'k{kkfFkZ;ksa dks D;k ugha vkrk gSA

144.	fuEufyf[kr esa ls dkSu&lk Hkk"kk dh d{kk esa =qfV;ksa ds fo"k; esa 
lgh gS\
(1)	 =qfV;k¡ f'k{kkfFkZ;ksa rFkk f'k{kd nksuksa ds fy, lh[kus ds {ks= 

vkSj çfriqf"V gSaA
(2)	 f'k{kkFkhZ tc Hkk"kk dk ç;ksx djrs gSa rHkh ds rHkh =qfV;ksa dks 

lq/kkjuk pkfg,A
(3)	 =qfV;k¡ dsoy f'k{kd ds fy, lh[kus ds {ks= gSaA
(4)	 =qfV;k¡ f}rh; Hkk"kk esa çFke Hkk"kk ds gLr{ksi dk ladsr gSaA

145.	,d Hkk"kk f'k{kd lkekftd foKku ds lkfFk;ksa ds lkFk feydj 
^Hkkjr dh lkaLÏfrd fofo/krk* ij çnÙk dk;Z nsrk gS@nsrh gSA

	 f'k{kkfFkZ;ksa dks bl fo"k; ij fjiksVZ fy[kus rFkk iksLVj rS;kj djus 
ds fy, lkekftd foKku dh iqLrd rFkk bfrgkl] Hkwxksy] laLÏfr] 
rFkk jktuhfr ls lacaf/kr vU; iqLrdsa rFkk nLrkostksa dks i<+uk gSA

	 Hkk"kk&vf/kxe dh ;g çfØ;k D;k dgykrh gS\
(1)	 lkekftd&foKku esa Hkk"kk
(2)	 lkekftd foKku dk çnÙk dk;Z
(3)	 lewph ikB~;p;kZ esa Hkk"kk
(4)	 Hkk"kk ys[ku dk fodkl

146.	,d f'k{kkFkhZ u, O;kdjf.kd :iksa dks lh[krs le; igys ls lh[ks 
gq, O;kdjf.kd fu;eksa dks vk/kkj cukrk@cukrh gSA bl vf/kxe 
rduhd dks D;k dgk tk,xk\
(1)	 laKkukRed ;qfDr;k¡	
(2)	 esVkdkfXufVo ;qfDr;k¡ (ijk laKkukRed ;qfDr;k¡)
(3)	 vkÏfr vk/kkfjr vf/kxe	
(4)	 lg;ksxkRed vf/kxe

147.	,d f'k{kkFkhZ lhfer le> ds lkFk ,d iBu lkexzh dks i<+ ikrh 
gSA og iBu lkexzh dks cgqr vPNh rjg i<+ ikrh gS rFkk vocksèku 
dk;Z dks vius cM+s HkkbZ dh lgk;rk ls djrh gSA f'k{k.k&vf/kxe 
dk ;g vH;kl gS -----------------A
(1)	 dksfpax	 (2)	 V~;wVfjax
(3)	 lgkjk feyuk	 (4)	 ifjdYiuk fuos'k

148.	og dk;Z tks f'k{kkfFkZ;ksa dks 'kCnksa dh vkÏfr;ksa ls tqM+us] vFkZ 
fudkyus rFkk ç;ksx djus esa lgk;rk djrk gS] ------------A
(1)	 O;kdj.k lh[kus esa lEçs"k.kkRed dk;Z gSA
(2)	 vFkZ xzg.k djus ds fy, Hkk"kk lh[kus dk dk;Z gSA
(3)	 O;kdj.k lh[kus ds fy, lajpukRed dk;Z gSA
(4)	 dk;Zfof/kd O;kdj.k lh[kuk gSA

149.	fuEufyf[kr esa ls dkSu&lh O;kdj.k lh[kus esa ^lpsrurk esa o`f¼ 
djus okyh* j.kuhfr gS\

(1)	 O;kdjf.kd bdkbZ;ksa ds fu;e dh rjg çLrqr djuk vkSj i`Fkd 
:i ls ç;ksx djus ds fy, ckj&ckj vH;kl djukA	

(2)	 O;kdj.k@Hkk"kk dks lanHkZ esa çLrqr djuk f'k{kkfFkZ;ksa ds laKku 
esa ykuk o ç;ksx djus ds ;ksX; cukuk rFkk ckn esa mudk /;ku 
blds fu;eksa dh vksj fnykukA

(3)	 O;kdj.k iqLrd vFkok vH;kl iqfLrdk ls O;kdj.k ds fu;eksa 
dks çLrqr djuk vkSj f'k{kkfFkZ;ksa dks gy djus ds fy, vH;kl 
dk;Z nsukA	

(4)	 O;kdj.k ls tqM+s ç'u iBu lkexzh vFkok fdlh o`rkUr ls 
fy, tkrs gSa vkSj vH;kl }kjk lh[ks tkrs gSaA

150.	vf/kxe ds fl¼kUr ds :i esa jpukokn dk fo'okl gS ----------
(1)	 cPps d{kkd{k f'k{k.k ds ek/;e ls uhou Kku çkIr djrs gSaA
(2)	 Hkk"kk lajpukRed vH;kl ds }kjk lh[kh tkrh gSA
(3)	 lHkh f'k{kkFkhZ ,d gh rjg ls lh[krs gSaA	
(4)	 cPps vius iwoZ Kku ls tksM+dj lh[krs gSaA
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1.	 Option (3) is correct.
Explanation: The relationship bet-
ween learning and development:
n	Learning is the gaining of 

knowledge, skills, and attitudes.
n	Development is the expansion 

and deepening of knowledge in 
line with one's development goals.

According to Vygotsky:
Learning occurs anytime in everyday 
life. His theory of Zone of Proximal 
Development (ZPD) expanded learn-
ing and development, which states 
that learning precedes development 
processes.
According to Vygotsky's theory of 
development:
Social interaction between a learner 
and someone more knowledgeable 
(more knowledgeable others, MKO) 
is necessary for successful social 
learning and social development. 
That is why learning to use social 
development theory in a classroom 
can help students understand ideas 
more quickly.

2.	 Option (2) is correct.
Explanation: Developmental plasti-
city is a general term referring to 
changes in neural connections during 
development due to environmental 
interactions and neural changes 
induced by learning in the initial 
stages of development. A child 
creates most of these connections 
from birth to early childhood.
Developmental plasticity describes:
The behavioral, anatomical physio-
logical changes in the developmental 
process of an organism during the life 
span which is majorly influenced by 
external environmental factors or 
other internal physiological factors, 
and that occur through gene–
environment interactions.
Hence, environment and experience 
play an integral part in the develop-
ment of plasticity in humans.

3.	 Option (1) is correct.
Explanation: Piaget's theory of 
childhood development is disconti-
nuous because it defines development 
in terms of stages. Discontinuous 
development happens in four stages 
(sensorimotor, pre-operational, 
concrete operational, and formal 
operational).
The discontinuity approach gives rise 
to “stage theories,” for example, rapid 

changes or shifts in puberty when a 
child becomes a man or a woman 
suggesting that the individual goes 
through rapid changes as they step 
up to a different developmental stage 
where change is sudden rather than 
gradual.

4.	 Option (4) is correct.
Explanation: In the Authoritative 
parenting style,
The parents are nurturing, responsive, 
and supportive but they set firm 
limits for their children. They define 
rules to control children's behavior. 
They listen to a child's viewpoint 
(discussing), but do not always accept 
it (reasoning).
Experts believe that authoritative 
parents are more likely to raise 
confident kids who achieve academic 
success. They have better social skills 
and are more capable of problem-
solving.
An authoritative approach to paren-
ting requires parents to: Listen to 
the Child but establish Clear Rules 
and offer a single warning for minor 
issues.
To Validate a Child's Emotions by 
Considering his Feelings.

5.	 Option (2) is correct.
Explanation: According to Piaget, 
the learning process involves the 
following:
n	Assimilation: Attempting to inter-

pret current information in the 
mental structure of pre-existing 
knowledge.

n	Accommodation: modifying the 
pre-existing knowledge because 
of new experiences.

While accommodation seeks to create 
new schemas, assimilation seeks to 
relate current information to old 
cognitive structures (schemas or 
pocket of informations).

6.	 Option (4) is correct.
Explanation: Conservation of num-
bers is a mathematical concept first 
identified by Jean Piaget in the 
mid-twentieth century. It is the 
recognition by a young child that 
quantity does not change with phy-
sical rearrangement.
Conservation is the logical thinking 
ability to recognize that the counting 
and quantity for a set group of objects 
stay the same no matter whether they 
are spread out or close together. In 
the stage of Concrete Operational 
Stage (7 to 11 Years) children  begin 
to understand the concept of conser-
vation.

7.	 Option (1) is correct.
Explanation: Vygotsky emphasized 
the importance of cultural tools 
which provides support to thinking 
such as reasoning and problem-
solving, and psychological tools, 
such as language, signs, and symbols 
furthering development.
He believed that just as physical tools 
extend our physical abilities, mental 
tools extend our mental abilities, 
enabling us to solve problems and 
create solutions in the modern world.
Cultural tools include both technical 
tools such as books, media, 
computers, and social software, and 
psychological tools such as language, 
signs, writing, and symbols.

8.	 Option (1) is correct.
Explanation:  Lev Vygotsky's idea,’ 
Zone of Proximal Development’ 
supports the theory of collaborative 
learning. Here, with the support of 
each other, learners accomplish tasks 
that are difficult to achieve indivi-
dually.
The ‘Zone of Proximal Development’ 
is defined as the space between what 
a learner can do without assistance 
(student’s potential) and what a 
learner can do with adult guidance 
or in collaboration with more capable 
peers. Learning occurs in the zone 
of proximal development after the 
identification of current knowledge.

9.	 Option (3) is correct.
Explanation: In stage 5 of post-
conventional morality by Kohlberg, 
people begin to account for the 
differing values, opinions, and 
beliefs of other people.
Rules of law are important for 
maintaining a society, but members of 
the society should agree upon these 
standards considering the rights and 
values that a society ought to uphold. 
They then evaluate existing societies 
in terms of these prior considerations.
For Example
n	Stage 5 (Social contract and 

Individual rights): The man 
should steal the drug because 
laws can be unjust, and you must 
consider the whole situation.

n	Stage 6 (Universal Principles): 
Moral behavior is based on self-
chosen ethical principles. The man 
should steal the drug because life 
is more important than property.

10.	 Option (3) is correct.
Explanation: Progressive education 
is a pedagogical movement that 
began in the late 19th century and 
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has persisted in various forms till the 
present.
The teacher is actively engaged 
in learning through formal study, 
direct observation, and participation. 
A teacher needs to understand 
children's learning and development 
in the context of family, community, 
and culture. Empathy allows teachers 
to understand students' perspectives, 
read their nonverbal signals, and react 
with concern to students needing 
help. A teacher must be real and 
caring towards a student’s problems.

11.	 Option (2) is correct.
Explanation:  IQ tests inaccurately 
measure an individual's intelligence 
and cause problems including low 
confidence, unrealistic expectations, 
and just a flawed understanding of 
a person's potential.
Sternberg's three-part theory of 
intelligence suggests that traditional 
intelligence tests have three major 
limitations:
(a)	 The IQ tests fail to measure 

creative insight,
(b)	 They ignore the practical side of 

intelligence, and
(c)	 Since IQ tests are limited to a 

fixed schedule, they wrongly 
equate intelligence.

When a child has been labelled, that 
label will become a part of his or her 
identity.
Labels often do more damage than 
good by putting children in boxes.
Cultural bias is the tendency to 
interpret & judge a child based on 
the distinctive values, beliefs, and 
other characteristics of the society or 
community to which he belongs.
Hence, instability of scores, cultural 
bias in tests, product-oriented tests, 
and labelling of children are the 
major concerns about using the 
concept of intelligence quotient to 
measure Children's intelligence.

12.	 Option (3) is correct.
Explanation: Howard Gardner's 
theory of Intrapersonal intelligence:
n	It is the capacity to understand 

oneself.
n	To have an effective working model 

of oneself-including desires, fears, 
and capacities.

n	And to use such information 
effectively in regulating one's 
own life. Characteristics of 
Intrapersonal Intelligence

n	Engage in self-analysis.
n	Enjoy spending time alone.
n	Understand emotions.
n	Reflect on goals and accomplish-

ments.
n	Make life plans.
n	Think about the deeper meaning 

of life.
n	Perform religious or spiritual 

practices.

13.	 Option (4) is correct.
Explanation: Gender flexibility refers 
to an open-minded attitude toward 
gender roles. It can be achieved in a 
classroom by:
n	Encouraging all students to parti-

cipate in extracurricular activities 
regardless of gender, creating a 
gender-inclusive curriculum, and 
making behavioral changes.

n	Ensure any educational materials 
used show genders in equal 
measure.

n	Mix children (both boys and girls) 
to work on projects together.

n	Explore gender concepts and roles 
from different communities.

n	Help students identify instances 
of gender bias, through awareness 
activities or historical events, laws, 
and cultural changes.

14.	 Option (2) is correct.
Explanation: Classrooms consist 
of students with varied learning 
profiles, diverse grasping abilities 
and different interests.
Teachers must accommodate diver-
sity while imparting lessons. This 
approach helps in a collaborative 
learning atmosphere and achieving 
meaningful learning outcomes.
To accommodate the diverse abilities 
of students, teachers can adopt these 
measures:
n	Regulate the pace of learning.
n	Give elective assignments to high 

achievers.
n	Give choices and empower 

students.
n	Use spontaneously designed 

assessments.
n	Use of technology.
Having an elastic, accepting, and 
caring mindset, providing direct 
instruction, creating time for colla-
boration, and teaching advocacy will 
ensure the best learning outcomes in 
a classroom with diverse learners.

15.	 Option (2) is correct.
Explanation: Formative assessment 
by teachers offers qualitative feedback 
to learners by monitoring their 
progress throughout the teaching-
learning process by identifying their 
learning difficulties.
Oral testing, anecdotal records, 
portfolios, class test, etc. are the tools 
of formative assessment.
Teachers will understand the exact 
needs of students while students 
will learn about their strengths and 
weak points.
The benefits of formative assessment 
include:
n	Defined learning goals.
n	Increased rigor.
n	Improved academic achievement.
n	Enhanced student motivation.
n	Increased student engagement.
n	Focused and targeted feedback.
n	Personalized learning experiences.
n	Self-regulated learners.

16.	 Option (2) is correct.
Explanation: Multiculturalism pro-
motes the integration of diverse 
cultures and the sharing of one's ideas 
and perspectives.
n	It helps understand unique cultu-

ral and ethnic heritage.
n	It helps in the development of 

culturally responsible and respon-
sive curricula. It promotes the 
attitudes, skills, and knowledge 
that function in various cultures.

n	It helps eliminate racism and 
discrimination in society.

n	It gives students a sense of comfort 
and makes them feel safe with 
these differences later in life.

17.	 Option (2) is correct.
Explanation:  Stereotypes can often 
lead to prejudices about a person that 
is not based on experience or reason 
and could lead to favoring one person 
or group against another.
Judging based on race, politics, sex, 
and gender is the most common 
stereotype.
Many people are well-to-do criticize 
the poor and blame them for their 
laziness, lack of intelligence, or 
willingness to make bad decisions.
Top-down learning refers to learning 
explicit knowledge first and then 
learning implicit knowledge on that 
basis. It can limit creativity and slow 
down problem-solving, so it may 
not be the best choice for greater 
flexibility and responsiveness.

18.	 Option (3) is correct.
Explanation: Convergent thinking 
happens when the solution to a 
problem can be deduced by applying 
established rules and logical reason-
ing. This involves solving a problem 
within the context of known informa-
tion and reaching a solution based on 
logical inference.
It obstructs creativity as it does not 
let learners think in divergent ways.

19.	 Option (4) is correct.
Explanation: People with disabilities 
need to be treated as normal human 
beings.
People with disabilities do not require 
any sympathy, pity, or mercy. All they 
require is an opportunity to live a life 
with dignity.
Sympathy connotes dependency, 
suffering, compassion and how we 
interact with other people.

20.	 Option (3) is correct.
Explanation:  Hearing impairment 
leads to partial or complete loss of 
hearing abilities in a person.
A hearing impaired has a tough time 
adjusting to a normal classroom.
They will have difficulty grasping the 
concepts discussed in the class like a 
normal child.
So, the teacher must modify teaching 
strategies as per the child's needs to 
promote inclusion.
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A teacher can avoid talking too 
rapidly or using sentences that are too 
complex. They should slow down a 
little, and pause between sentences or 
phrases, to make children understand 
better.
Keeping hands away from the face 
while talking.
Hence, negative comments on errors 
committed will lead to discomfort 
and loss of confidence and social 
exclusion in children.

21.	 Option (2) is correct.
Explanation: As a part of Social-
emotional learning, students learn 
crucial life skills, the ability to 
understand themselves, develop a 
positive self-image, take responsi-
bility for their actions, and forge 
relationships with the people around 
them.
Social-emotional competence deve-
lops when children make responsible 
decisions based on: their own emo-
tions, understand the feelings of 
others, consider the impact of their 
actions on others, and value their 
relationships.
For an educational institution, 
Social emotional awareness reduces 
emotional distress, leads to fewer 
disciplinary issues, motivates the 
student to attend school as he adapts 
and accepts the environment and 
results in improved class engagement, 
test scores and better grades.

22.	 Option (4) is correct.
Explanation: Conceptual clarity is the 
result of conceptual learning which 
helps students to apply the acquired 
knowledge and skills in real-life.
It promotes the intellectual quality 
of all students by providing deep 
and connected learning experiences. 
This engages students in higher-
order thinking and facilitates the 
development of problematic know-
ledge.

23.	 Option (2) is correct.
Explanation: Critical thinking increa-
ses comprehension skills to evaluate 
the logical structures of texts. Critical 
thinking abilities help to understand 
and appraise a situa-tion using all 
relevant facts and infor-mation.
Independent thinkers use their advan-
ced critical thinking and problem-
solving skills to develop effective 
strategies for various situations.
These learners are comfortable and 
confident about expressing their 
thoughts, which makes them reliable 
resources and decision-makers.

24.	 Option (3) is correct.
Explanation: An error is a form in 
learner language that is inaccurate.
An error in education refers to the 
difference between what a test score 
indicates and a student's actual 
knowledge and abilities.
In the process of making mistakes 
and correcting them, students learn 

persistence in learning new skills and 
are not afraid of failure. Mistakes and 
errors made by students should be 
seen as opportunities to understand 
their thinking.
Hence, committing errors is seen 
as a normal and acceptable part of 
cognitive development.

25.	 Option (3) is correct.
Explanation: Emotion is a complex 
experience of consciousness, bodily 
sensation, and behavior that reflects 
the personal significance of a thing, 
an event, or a situation.
Emotions influence cognitive skills 
such as attention, memory, executive 
function, decision-making, critical 
thinking, problem-solving and regu-
lation, all of which play a key role in 
learning.
Emotions, as stated, affect the internal 
motivation of students to learn based 
on interest and curiosity in learning.
Hence, emotions give meaning to 
learning.

26.	 Option (3) is correct.
Explanation: Teachers can encourage 
students to learn from their mistakes 
by making them see mistakes as a 
source of understanding.
Improve motivation and self-esteem 
by responding to and overcoming 
mistakes.
Allow mistakes through the learning 
atmosphere.
Allow a variety of mistakes.

27.	 Option (1) is correct.
Explanation: Master-oriented learn-
ers' have the defined goal of learning 
and mastering the task according to 
self-set standards.
These Learners are focused on 
developing new skills, improving, 
and acquiring additional knowledge.
This orientation focuses on ensuring 
a student's grasp of a given concept 
is complete regardless of the time 
and resources needed to achieve 
proficiency.

28.	 Option (2) is correct.
Explanation: Good problem solvers 
tend to have a lack of response set 
as they will think divergently and 
try to analyze every outcome of the 
given problem before responding or 
solving a problem.
Perceptional, emotional, intellectual, 
expressive, environmental, and 
cultural factors may hinder problem-
solving. In problem-solving, the 
end goal is to solve a problem by 
overcoming every barrier on the 
way. The response set is considered 
a barrier to problem-solving.

29.	 Option (3) is correct.
Explanation: 
n	Competition can be effective 

when it leads to healthy results.
n	Unhealthy competition can easily 

affect morale and confidence.

n	It creates winners and losers 
which leads to stress and anxiety.

n	It leads to disappointment.
n	Unhealthy competition leads to 

lower engagement.
30.	 Option (1) is correct.

Explanation: In meaningful learning, 
a teacher should respect the needs, 
interests, and emotions of all the 
students, so that they can learn freely 
in their environment. Meaningful 
learning is not instructional-based 
learning, students can learn concept-
ually by constructing knowledge 
from various sources.
Learning requires critical thinking 
skills. It requires the learner to be pro-
actively curious about everything. It 
emphasizes hands-on learning and 
students actively participating in 
lessons.
The process of meaningful learning 
requires learners to be the center 
of the learning process. Learning 
should be social, emotional, and 
inclusive and assessment based.

Mathematics & Science
31.	 Option (2) is correct.

Explanation: Since composite 
numbers between 101 and 120 are 
102, 104, 105, 106, 108, 110, 111, 112, 
114, 115, 116, 117, 118, 119.
So, total numbers of composite 
number between 101 and 120 is 14.

32.	 Option (3) is correct.
Explanation: Given rational numbers 

are −
5
6  

and 3
8

.
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Thus option (1) and (2) are incorrect.
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33.	 Option (3) is correct.
Explanation: 
Given,	 504	 = 2p × 3q × 7r

⇒		 2 × 2 × 2 × 3 × 3 × 7
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			   = 2p × 3q × 7r

⇒	23 × 32 × 71	 = 2p × 3q × 7r

By comparing power of individuals, 
we get 
			   p = 3, q = 2, r = 1
So,		 2p + q – r	= 2 × 3 + 2 – 1
			   = 7

34.	 Option (1) is correct.
Explanation: We have to simplify

( )8 125 443 23 3� �

		
= 

8 125
4

4 3 2 3

3 2

/ /

/
×

		
= 

( ) ( )
( )

/ /

/
2 5

2

3 4 3 3 2 3

2 3 2
×

		
= 

2 5
2

4 2

3
×

		  = 21 × 52

		  = 2 × 25
		  = 50

35.	 Option (1) is correct.
Explanation: We know that,
	 dividend	 = �divisor × 

quotient + 
remainder

So,	 First number	 = 31 × 9 + 18
		  = 297
Since, we know,
	 1485 × 33	 = �first number 

× second 
number

⇒	 297 × second number
			   = 1485 × 33
⇒	 Second number

			 
= 

1485 33
297

×

			   = 165
36.	 Option (2) is correct.

Explanation: Given, the numbers 26, 
24, 56 and 49
Since,	26 – x : 24 – x	 :: 56 – x : 49 – x

⇒
		

26
24

−
−

x
x 	

= 
56
49

−
−

x
x

⇒		 (26 – x)(49 – x)	= (56 – x)(24 – x)
⇒	 1274 – 75x + x2	 = 1344 – 80x + x2

⇒		  80x – 75x	 = 1344 – 1274
⇒		  5x	 = 70
⇒		  x	 = 14

So,
		

2 6
2

x −

	
= 

2 14 6
2

� �

			 
= 

22
2

			   = 11
37.	 Option (3) is correct.

Explanation:
Given polynomials, x2 + 7x + 12 and  
x2 – 5x – 36
Now,	 x2 + 7x + 12	 = (x + 3)(x + 4)
and		  x2 – 5x – 36	 = (x + 4)(x – 9)
So, (x + 4) is a common factor.

38.	 Option (3) is correct.
Explanation: Given
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39.	 Option (3) is correct.

Explanation: Given,
(3x2 – 6x – 4) + (4x – 3 – x2) – (5 + 
x – 2x2)
			   = Ax2 + Bx – C
⇒	� (3 – 1 + 2)x2 + (–6 + 4 – 1)x + 

(–4 – 3 – 5)
			   = Ax2 + Bx – C
⇒		 4x2 – 3x – 12	 = Ax2 + Bx – C
By comparing co-efficients, we get
	 A = 4, B = –3, C = 12
So,		 (A + B – C)	 = 4 – 3 – 12
			   = –11

40.	 Option (2) is correct.
Explanation: Given, x + y = 3 and 
x2 + y2 = 29
Since	 (x + y)2	 = x2 + y2 + 2xy
⇒		  9	 = 29 + 2xy
⇒		  2xy	 = –20
⇒		  xy	 = –10

Now,
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41.	 Option (3) is correct.
Explanation: The external and 
internal radii of cylindrical pipe are 
16 cm, 15 cm and height = 63 cm.
Now,
Volume (V)
	 = p(R2 – r2)h

		
= 

22
7

16 15 632 2� � �( )

		 = 22(256 – 225) × 9
		 = 198 × 31
		 = 6138 cm3

42.	 Option (4) is correct.
Explanation: Given, the perimeter of 
a rhombus-shaped field is 400 m 
and length of one of the diagonals 
= 160 m.
Since	 Perimeter

	
= 2 1

2
2

2d d+

⇒		  400
	

= 2 1602
2

2+ d

⇒
	

25600 2
2+ d

	
= 200

⇒		  d2
2	 = 40,000 – 25,600

			   = 14,400
⇒		  d2	 = 120 m

So,		  Area
	

= 
1
2 1 2d d×

			 
= 

1
2

120 160× ×

			   = 9600 m2

43.	 Option (4) is correct.
Explanation: Given,
		  Area of trapezium	 = 1625 cm2

⇒	
	

1
2  

(sum of parallel sides) × h

			   = 1625
⇒		 (sum of parallel sides) × 25		
			   = 2 × 1625
⇒		 sum of parallel sides		
			   = 2 × 65
			   = 130 cm
Now	,
	 Perimeter	= �Sum of parallel 

sides + Sum of 
non-parallel sides

⇒		  188	 = �130 + Sum of  
non-parallel sides

⇒	 Sum of non-parallel sides		
			   = 58 cm

44.	 Option (2) is correct.
Explanation: 

Given,	 EC	 = AD
⇒		 EC + DE	 = AD + DE
⇒		  CD	 = AE� ...(i)
In ∆ABE and ∆CBD
		  AB	 = CB� (Given)
		  ∠BAE	 = ∠BCD	�
� (by properties)
		  AE	 = CD� [by (i)]
By SAS
⇒		  ∆ABE	 ≅ ∆CBD

45.	 Option (3) is correct.
Explanation: We know
Sum of all interior angles
			   = (n – 2) × 
180°
⇒	 (n – 2) × 180°	 = 1800°
⇒	 n – 2	 = 10
⇒	 n	 = 12

Now,
	

n + 4
2 	

= 
12 4

2
+

		  = 8
46.	 Option (3) is correct.

Explanation: Given the number 
of faces, vertices and edges of a 
polyhydron A are x, 10, 15
Since,	 F + V	 = E + 2
⇒		  x + 10	 = 15 + 2
⇒		  x	 = 17 – 10
			   = 7
For polyhydron B
		  12 + y	 = 30 + 2
		  y	 = 32 – 12 
			   = 20
Now,	 x + y	 = 7 + 20
			   = 27



298�  Oswaal CTET Year-wise Solved Papers
47.	 Option (1) is correct.

Explanation: In ∆ABC
	2x + 2y + ∠A	 = 180°

⇒		  x + y
	

= 
A

90
2

� �
�

Now,	 102°	 = ∠A + x + y

⇒		  102°
	

= A
A

� � � �
�

90
2

⇒		  12°	 = 
A∠

2

⇒		  ∠A	 = 24°

48.	 Option (3) is correct.

Explanation: 

Given rhombus ABCD
		 ∠ADB	= 50°
⇒		 ∠ADB	= ∠ABD = 50°
So,		  ∠A	 = 180° – (∠ADB +∠ABD)
			   = 180° – (50° + 50°)
			   = 80°
Since, we know
		  ∠A	 = ∠C ⇒ ∠C = 80°
So,		 ∠DCB	= 80°

49.	 Option (2) is correct.

Explanation: Two dice are thrown
So, total number of possible outcomes
		  =	 6 × 6 = 36
Now,	 E =	� (3, 4), (3, 5), (3, 6), (1, 6), 

(2, 5), (2, 6)
			   (4, 3), (4, 4), (4, 5), (4, 6)
			   (5, 2), (5, 3), (5, 4), (5, 5)  
			   (5, 6)
			�   (6, 1), (6, 2), (6, 3), (6, 4), 

(6, 5), (6, 6)
number of favourable outcomes = 21
So,	 P(sum of numbers atleast 7)		

			 
=  = 

21
36

7
12

50.	 Option (3) is correct.

Explanation: Given data, 13, 14, 15, 
11, 9, 9, 8, 7, 16, 15, 5, 6, 16, 25, 16, 
23, 28, 17
Since, arrangement of data in 
ascending order
5, 6, 7, 8, 9, 9, 11, 13, 14, 15, 15,  16, 16, 
16, 17, 23, 25, 28

Now, Median

		
= 

term term
th th18

2
18
2

1

2

�
�
�

�
�
� � ��

�
�

�
�
�

⇒	x	 = 
 term  termth th( )9 10

2
+

⇒	x
	

=  = 14.5
14 15

2
+

If 6 is replaced by 19 and 13 is replaced 
by 31 then
31, 14, 15, 11, 9, 9, 8, 7, 16, 15, 5, 19, 
16, 25, 16, 23, 28, 17
Again, arrange data in increasing 
order.
5, 7, 8, 9, 9, 11, 14, 15, 15, 16, 16, 16, 
17, 19, 23, 28, 31

	
Median

	
=

term termth th( )9 10
2

+

	 Median	 =
( )15 16

2
+

	 Median	 =
31
2

	 Median	 = 15.5
	 y	 = 15.5
So,	 3x – y	 = 3 × 14.5 – 15.5
	 3x – y	 = 43.5 – 15.5
	 3x – y	 = 28.

51.	 Option (4) is correct.
Explanation: In order to incorporate 
Jean Piaget’s framework in teaching 
mathematics, a teacher must give 
enough manipulatives to work with 
in order to teach a concept. Children 
learn by doing rather than thinking 
about things. A manipulative is a tool 
that helps students quickly integrate 
knowledge through manipulation. 
It is a tool that the teacher utilizes 
to provide students with real-world 
experience.

52.	 Option (2) is correct
Explanation: A lesson plan in 
mathematics may be designed to 
make teaching systematic and well 
organised, to introduce fresh ideas 
or reiterate already established ones, 
to help students become more adept 
at using formulas, equations and 
other mathematical tools to solve 
issues, and to encourage critical 
thinking. Mathematics requires 
logical thinking and reasoning. A 
lesson plan in mathematics may 
include practical examples, difficult 
problems and interesting activities to 
pique students’ interest in the topic.
Thus, developing the habit of 
undertaking immediate corrective 
measures is not the characteristic of 
mathematical lesson plan.

53.	 Option (4) is correct
Explanation: An effective 
mathematics teacher is characterized 
by his/her competence and confidence 

in the subject matter, which requires 
a thorough understanding of the 
material. Rather than simply teaching 
procedures, a skilled teacher will 
impart conceptual knowledge that 
helps students connect new concepts 
to what they already know. Creating 
a stimulating classroom environment 
that promotes learning is also an 
important quality for a math teacher, as 
is a commitment to ongoing learning 
and exploration of new mathematical 
knowledge and teaching strategies. 
By making connections between 
concepts and real-life situations, a 
skilled math teacher helps students 
develop a deeper understanding of 
the subject matter.

54.	 Option (4) is correct

Explanation: The practice that is not 
suitable for teaching mathematics at 
the upper primary level is using only 
formal algorithms, as it promotes 
rote learning and does not allow 
the students to discover. Using 
only formal algorithms in teaching 
mathematics can limit students’ 
understanding of the subject and 
hinder their ability to think critically 
and solve problems. It results in 
rote memorization of procedures 
without a deeper understanding 
of the underlying mathematical 
concepts. This can lead to difficulties 
when students are presented with 
unfamiliar problems or variations 
of problems that they have learned 
to solve problems using a specific 
algorithm.

55.	 Option (1) is correct

Explanation: The most relevant 
question to be included in the test is 
option (1).
It will help Mr. Alok to assess 
the student’s ability to identify 
situations of non-proportional 
thinking. Non-proportional thinking 
refers to the inability to understand 
or use proportional relationships 
in mathematics. In a proportional 
relationship, two quantities are 
related in such a way that as one 
quantity changes, the other changes 
in a consistent and predictable 
manner. For example, if the price of 
an item is proportional to its weight, 
then doubling the weight will double 
the price.
Students who struggle with non-
proportional thinking may have 
difficulty understanding or solving 
problems that involve ratios, rates 
and percentages. They may also 
have difficulty recognizing when 
two quantities are proportional or 
when they are not.
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56.	 Option (3) is correct

Explanation: Open-ended problems 
are an important component of 
the teaching-learning process of 
mathematics. These are problems that 
have multiple solutions or paths to a 
solution and they require students 
to use critical thinking skills to arrive 
at an answer. This encourages them 
to think creatively and develop 
their problem-solving skills. Open-
ended problems require students 
to analyse the problem, determine 
what information is important and 
then develop a strategy to solve it. 
This encourages collaboration and 
teamwork. Therefore, open-ended 
tasks in maths lessons promote 
imaginative thinking, innovative 
thinking and equal opportunity in 
the classroom.

57.	 Option (2) is correct

Explanation: As stated in statement 
(a), it is true that every mathematical 
concept leads to more mathematical 
concepts. Statement (b) claims that 
mathematical concepts develop from 
abstract to concrete, is untrue because 
they are taught in phases, from the 
concrete to the abstract. Given that 
teachers should always begin lessons 
by covering some fundamental 
concepts before moving on to more 
in-depth explanations, assertion 
(c) claims that mathematical ideas 
develop from specific to generic, is 
correct.

58.	 Option (2) is correct

Explanation: Mean will be affected 
by one or two extremely large or 
extremely small values outside the 
range of the rest of the data. This 
is because the mean is a measure of 
central tendency that is calculated 
by adding up all the values in the 
data set and then dividing by the 
number of values. If there are one 
or two values that are significantly 
larger or smaller than the rest of the 
values, they can greatly influence the 
calculated mean.

59.	 Option (4) is correct

Explanation: The teacher emphasizes 
the use of non-standard units in 
measurement activities as a way 
of introducing standard units of 
measurement later. The activities 
include using a set of 15 wedges to 
measure different angles, overlapping 
cut outs of various angles to identify 
angles with equal measures and 
measuring the length of a straight-
line segment using pencils of varying 
lengths.

60.	 Option (2) is correct
Explanation: Activities are an impor-
tant tool for learning in elementary 
school mathematics classrooms 
because engaging in activities encou-
rages strategic mathematical thinking 
and development of computational 
fluency that is they provide students 
with opportunities to engage with 
mathematical concepts in a hands-on 
and interactive way, allowing them to 
develop a deeper understanding of 
the subject. They also help to moti-
vate students to practice and tool for 
teachers to assess the students.
Activities also help students to build 
problem-solving skills, to collaborate 
with their peers and to develop a 
positive attitude towards maths. 
Furthermore, activities can make 
maths more engaging and enjoyable 
for students, which can lead to 
increased motivation and a greater 
desire to learn.
Thus, statements (a) and (b) are 
correct.

61.	 Option (4) is correct
Explanation: When two plane 
mirrors are positioned parallel to 
each other in a trial room of a garment 
shop, an infinite number of images 
can be formed. This is due to the 
phenomenon of multiple reflections, 
where each mirror reflects the image 
of the person trying on the clothes 
back and forth between the mirrors. 
As the reflected images bounce back 
and forth, they create an infinite 
series of images that appear to stretch 
out into infinity. In the context of a 
garment shop, the infinite reflections 
can help customers to see themselves 
from multiple angles and get a better 
sense of how the clothes fit and look 
on them.

62.	 Option (1) is correct
Explanation: For the simple reason 
that copper is below hydrogen in the 
reactivity series, it will not react with 
hydrochloric acid. The hydrogen in 
HCl cannot therefore be replaced 
by copper. As a result, there won’t 
be a reaction when copper (Cu) 
and hydrochloric acid (HCl) are 
combined.

63.	 Option (2) is correct
Explanation: Rainwater, due to its 
natural acidity caused by the presence 
of carbon dioxide (CO2), can cause 
copper to corrode and form copper 
compounds. When copper comes 
into contact with acidic rainwater, 
a chemical reaction occurs, which 
can be represented by the following 
equation:
2Cu + 2H2O + CO2 + O2 �
� → CuCO3·Cu(OH)2 + H2O

In this reaction, copper reacts with 
oxygen (O2) and water (H2O) to form 
copper hydroxide [Cu(OH)2] and 
copper carbonate [CuCO3], resulting 
in the formation of greenish coating 
on the copper’s surface.

64.	 Option (4) is correct
Explanation: Baking soda is basic in 
nature and will turn red litmus paper 
blue.
Vinegar is acidic in nature and will 
turn blue litmus paper red.
Lemon juice is also acidic in nature 
and will turn blue litmus paper red.
Bleach has a pH of about 11, making 
it a very basic or alkaline solution. It 
will turn red litmus paper blue when 
placed on it. The colour of the blue 
litmus paper won’t alter.

65.	 Option (1) is correct
Explanation: Camphor and magne-
sium can both burn with a flame, 
although the characteristics of the 
flames may differ.
When camphor burns, it typically 
produces a bright, white flame with 
a distinctive odor.
When magnesium burns, it produces 
a very bright, intense white flame that 
can be blinding to look at directly. 
The flame is very hot and can reach 
temperatures of up to 3,100 °C, 
which makes it useful for various 
industrial and scientific applications. 
Magnesium is often used as a 
component in flares, fireworks and 
incendiary devices.

66.	 Option (3) is correct
Explanation: Cloning is the process 
of creating an exact genetic replica 
of a living organism, cell, or tissue. 
Statements (B) and (C) are true that is 
cloning results in exact replication of a 
cell, a living part or an organism and 
results in large number of offspring. 
Statement (A) is not true as cloning 
does not occur only in animals. 
Cloning can also be done in plants 
and bacteria.
In plants, cloning is often done 
through a process called vegetative 
propagation, which involves taking 
a cutting from a parent plant and 
rooting it to produce a new plant that 
is genetically identical to the parent.
In bacteria, cloning is a natural process 
that involves the replication of DNA 
sequences to produce identical copies 
of the bacteria.

67.	 Option (1) is correct
Explanation: Both A and R are correct 
and R is the correct explanation for 
A. The reason a bottle filled with hot 
water and capped tightly can get 
crushed after some time is due to 
the difference in pressure inside and 
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outside the bottle. When the bottle 
is capped tightly, the air inside the 
bottle is trapped and can’t escape. As 
the hot water inside the bottle begins 
to cool, the air inside the bottle also 
cools and contracts, creating a lower 
pressure inside the bottle than the 
surrounding air outside.

68.	 Option (4) is correct
Explanation: Statement (4) is untrue. 
Because nickel and cobalt can be 
magnetised and are attracted to 
magnets, they are both ferromagnetic 
metals.
The magnetic moments of a 
ferromagnetic material’s atoms line 
up with the magnetic field’s direction 
when it is exposed to one. The 
substance becomes magnetised and 
attracts to the magnet as a result of 
the alignment of magnetic moments. 
Cobalt and nickel both have significant 
magnetic characteristics.
Thus, ferromagnetic metals like nickel 
and cobalt can be drawn to magnets.

69.	 Option (4) is correct
Explanation: Sharpness of the image 
is reduced when the top part of the 
convex lens is covered with a black/
opaque paper. In the case of a convex 
lens, the upper portion of the lens may 
play a significant role in refracting 
light rays to produce a clear and sharp 
image. Covering this part of the lens 
can cause the image to appear blurred 
or out of focus, especially if the lens is 
of poor quality or if the light source 
is not strong enough.
In summary, covering the top part of 
a convex lens with a black or opaque 
paper can reduce the sharpness of 
the image by obstructing or scattering 
some of the light rays passing through 
the lens.

70.	 Option (3) is correct
Explanation: Average speed of the 
car is given by total distance covered 
divided by the total time taken. Time 
taken is 
7 hours and 45 minutes			 

	
=  hours7

45
60

��
�
�

�
�
�

		
=  hours

31
4

average speed of the car

			 

	

=  = 
372
31
4

372 4
31

×

		 = 48 km/hr
Maximum speed
	 = 120 km/hr.
Thus, the difference between the 
maximum speed and the average 
speed is

		  120 – 48	 = 72 km/hr.
71.	 Option (2) is correct

Explanation: Statement (2) is 
incorrect. Tsunamis typically have 
a Richter scale magnitude greater 
than 7.5, while most earthquakes are 
the result of abrupt movements of 
tectonic plates and volcanic activity, 
which can cause tremors in the 
surrounding region. The scientific 
study of earthquakes is known as 
Seismology.

72.	 Option (1) is correct

Explanation: When three objects of 
the same size but different densities 
are placed in a liquid, the buoyant 
force acting on each object follows the 
order of B < C < A. This is because 
object B only displaces 1/4th of its 
volume in the liquid, while object 
C displaces 1/2 of its volume and 
object A is completely submerged 
in the liquid. Archimedes’ principle 
states that the magnitude of the 
buoyant force on an object is equal 
to the weight of the fluid displaced 
by the object. The volume of the 
object submerged in the liquid is a 
key factor in determining the amount 
of fluid displaced and therefore the 
magnitude of the buoyant force. As 
the volume of the object submerged 
increases, so does the buoyant force. 
The density of the fluid also plays a 
role in determining the buoyant force 
acting on an object.

73.	 Option (1) is correct

Explanation: Bakelite is a type of 
plastic that was commonly used in 
the past for a variety of purposes, 
including making handles for 
cookware such as cookers, pots and 
pans. This was because Bakelite is 
a heat-resistant material that can 
withstand high temperatures without 
melting or deforming.

74.	 Option (2) is correct

Explanation: The vitamins that also 
acts as antioxidants are vitamin A, C 
and E. Antioxidants are substances 
that prevent or slow down oxidative 
damage to cells caused by free 
radicals.
Vitamin C: This water-soluble 
vitamin is a powerful antioxidant 
that helps protect cells from oxidative 
damage. It also helps regenerate 
other antioxidants in the body, such 
as vitamin E.
Vitamin E: This fat-soluble vitamin 
protects cell membranes from 
oxidative damage by neutralizing 
free radicals. It works in conjunction 
with vitamin C to provide antioxidant 
protection.

Vitamin A: This fat-soluble vitamin 
is important for maintaining healthy 
vision and skin and it also acts as 
an antioxidant, protecting cells from 
oxidative damage.

75.	 Option (1) is correct
Explanation: A and C are plant cells 
and B is animal cell.
The table below compares some of 
the features of plant and animal cells.

Features Plant cell Animal 
cell

Cytoplasm Present Present

Nucleus Present Present

Cell wall Present Absent

Cell membrane Present Present

Chloroplast Present Absent

The cell wall is a characteristic feature 
of plant cells, composed of cellulose, 
which serves to provide structure, 
support and protection to the cell. 
Conversely, animal cells lack a cell 
wall. Another distinct feature of plant 
cells is the presence of chloroplasts, 
specialized organelles responsible for 
carrying out photosynthesis and gen-
erating energy in the form of glucose. 
Not all cells in a multicellular plant 
contain chloroplasts. In contrast, an-
imal cells do not possess chloroplasts.

76.	 Option (2) is correct
Explanation: Measles is a disease that 
results from infection by the highly 
contagious measles virus. Malaria, 
on the other hand, is caused by a 
parasite called Plasmodium that 
is transmitted to humans via the 
bite of infected female Anopheles 
mosquitoes. Typhoid fever, also 
known as typhoid, is caused by 
Salmonella typhi bacteria that are 
often spread through contaminated 
food and water. Lastly, Leprosy, which 
is also known as Hansen’s disease, 
is caused by Mycobacterium leprae 
bacteria, which attack nerve endings 
and skin, leading to symptoms such 
as muscle weakness, loss of feeling in 
affected areas and skin lesions.

77.	 Option (3) is correct
Explanation: Statement (1) is false 
because hens do not exhibit external 
fertilization. Hens are birds and 
they reproduce through internal 
fertilization. This means that the 
male bird’s sperm is deposited inside 
the female’s body and fertilization 
occurs internally, within the female’s 
reproductive system. The fertilized 
egg then develops inside the female 
until it is ready to be laid as an egg. 
Yes, hens are oviparous animals, 
which means they lay eggs that 
hatch outside the body. After internal 
fertilization occurs within the hen, 
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the fertilized egg travels down the 
oviduct and is then laid by the hen.

78.	 Option (1) is correct
Explanation: Both the (A) and (R) are 
true and (R) is the correct explanation 
of (A).
Owls can see in low light due to their 
extraordinary night vision. Their eyes 
have been modified specifically to aid 
them in seeing in the dark. Their eyes 
are particularly sensitive to light and 
they have big eyes compared to the 
size of their bodies. Additionally, they 
have a large number of rod cells in 
their eyes, which are specialised cells 
that enable them to see in low light.

79.	 Option (1) is correct
Explanation: Maize is a source of 
carbohydrate and will help to increase 
its level in the body. Peas, soyabeans 
and groundnuts are a good source of 
several nutrients including dietary 
fibre, protein, vitamins and minerals. 
Soybeans are particularly high in 
protein, with one cup of cooked 
soybeans providing about 29 grams 
of protein.

80.	 Option (1) is correct
Explanation: Both the (A) and (R) are 
true and (R) is the correct explanation 
of (A). The speed of sound is generally 
faster on a hot summer day compared 
to a cold winter day. This is because 
sound travels faster through warmer 
air than through colder air because 
the density of hot air is less than the 
density of cold air. As the temperature 
of the air increases, the air molecules 
move faster and this causes sound 
waves to travel faster through the air. 
On the other hand, on a cold winter 
day, the air is typically cooler, which 
causes sound to travel more slowly 
through the air.

81.	 Option (3) is correct
Explanation: ‘Observation in science’ 
are a crucial part of the scientific 
method and it does not give unbiased 
truth about natural phenomena. 
This is because observations can 
be influenced by a range of factors, 
including the observer’s subjective 
interpretation of what they see, 
their biases and the limitations of 
the equipment used to make the 
observations.

82.	 Option (3) is correct
Explanation: The NCF-2005 Position 
Paper on Teaching of Science empha-
sizes the importance of developing 
the ability to comprehend the scien-
tific inquiry process as a vital and 
transferable skill that assists children 
in “learning to learn” science. The 
scientific inquiry process is a metho-
dical and evidence-based approach to 

comprehending the natural world that 
entails careful observation, hypothesis 
development, experimentation, data 
analysis and the correlation of findings 
to real-world situations. It is an essential 
skill that fosters systematic problem-
solving and analytical thinking.

83.	 Option (3) is correct
Explanation: Scientific knowledge is 
tentative means that as new evidence 
is discovered and new methods are 
developed, scientific knowledge is 
continuously refined and updated. 
Therefore, scientific knowledge is 
not absolute or final, but rather it 
is always tentative and subject to 
change as new evidence becomes 
available.

84.	 Option (3) is correct
Explanation: The empirical nature of 
science refers to the fact that scientific 
knowledge is based on empirical 
evidence, which is gathered through 
observation and experimentation. 
Scientists use the scientific method 
to make observations, develop 
hypotheses and test them through 
experimentation. The results of 
these experiments provide empirical 
evidence that either supports or 
contradicts the initial hypothesis. The 
empirical nature of science means 
that scientific knowledge is based 
on objective evidence that can be 
observed and measured, rather than 
on personal opinions or beliefs.

85.	 Option (3) is correct
Explanation: The following methods 
can be used by a teacher to help 
pupils internalise the essence of the 
scientific enterprise:
l	Science should be taught to 

students through a variety of 
techniques.

l	Making science’s nature an 
intrinsic element of teaching and 
learning.

l	Stressing the historical aspects of 
how scientific ideas have evolved.

Memorization won’t aid pupils in 
creating a scientific enterprise among 
themselves.

86.	 Option (1) is correct
Explanation: The most important 
consideration for organising reme-
dial teaching is paying attention to 
individual rate progress. The aim 
of remedial teaching is to provide 
additional instruction and support to 
students who are struggling academi-
cally in order to help them improve 
their performance. Remedial teaching 
is targeted at students who are falling 
behind their peers and need extra 
assistance to keep up. The goal of 
remedial teaching is to help students 

acquire the skills and knowledge that 
they need to succeed academically and 
reach their full potential.

87.	 Option (4) is correct
Explanation: Reena should search for 
conceptual gaps and teach the concept 
accordingly. It clearly indicates that 
most of the students have failed to 
understand to concept correctly. She 
should acknowledge the learning 
difficulties of the students, identify 
the areas where improvement is 
required and should help them to 
understand the concept.

88.	 Option (1) is correct
Explanation: Both the (A) and (R) are 
true and (R) is the correct explana-
tion of (A). Discrepant events are 
situations in which a phenomenon 
occurs that contradicts students’ 
prior understanding or expectations. 
By presenting discrepant events in 
the classroom, teachers can chall-
enge students’ misconceptions and 
engage them in a process of scienti-
fic inquiry. This involves asking 
students to observe and describe the 
event, generate explanations for what 
they have observed and test their 
hypotheses through further investi-
gation and experimentation. By engag-
ing in this process, students are forced 
to confront their misconceptions and 
revise their understanding of the phe-
nomenon in question.

89.	 Option (2) is correct
Explanation: Hypothesizing is the 
process of formulating a hypothesis 
or proposed explanation for a 
phenomenon or set of observations. 
It involves using prior knowledge, 
observations and logical reasoning to 
come up with a tentative statement 
that can be tested through further 
investigation and experimentation.
Asking questions is important to assess 
the student’s ability to comprehend.

90.	 Option (2) is correct
Explanation: The correct statements 
regarding to the assessment in science 
are statements (C) and (D). Qualita-
tive criteria help in meaningful  
assessment, that is the use of quali-
tative criteria can provide a more 
comprehensive and meaningful 
assessment of student performance 
and the learning environment. They 
can also help to identify areas for 
improvement and provide insights 
into the effectiveness of different 
teaching methods and programs. It 
is also important to test every concept 
that has been taught to the students.

Language: English
91.	 Option (3) is correct.
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Explanation: “One doesn’t need to 
have any faith in him as an individual 
and accept what he says without 
questioning it.”
The above lines from the passage 
show that an individual should not 
have blind faith in a scientist without 
questioning him in his scientific 
theories. The theory of scientists 
is built on simple reasoning. It is 
desirable to ask questions and seek 
answers for the same.

92.	 Option (4) is correct.
Explanation: "The only thing a 
scientist asks of an of one is to base 
ones characterizes a child ion whom 
society has not yet imposed its beliefs 
and prejudices,”
“It is a culture and a philosophy 
of life, a philosophy which allows 
us to purpose truth without any 
prejudgment.”
So, science is a study of more than 
just physics, chemistry, biology, and 
mathematics. The preconceptions 
and knowledge of various disciplines 
of knowledge are not required in a 
scientific inquiry but only an open 
mind that can question and find an 
answer based on reasoning.

93.	 Option (1) is correct.
Explanation: The following lines 
from the passage,
“Science is nothing more than ques-
tions asked and questions answered.”
“a method that “works” and can be 
used to solve problems that one faces 
in everyday life”
Clearly states that science is, based 
on asking questions and answering 
them, and can be used effectively in 
solving the day-to-day problem of life 
as it is based on simple reasoning.

94.	 Option (2) is correct.
Explanation: With reference to the 
passage, the following lines,
"Science is indeed, far more than 
just Physics, chemistry, biology, 
astronomy and mathematics," Cleary 
states that science is more than mere 
disciplines of knowledge. It is a 
culture and philosophy of life and 
the question of ideas and a way of 
thinking without prejudgment.

95.	 Option (3) is correct.
Explanation: The following lines 
from the passage, “a value system 
which is rational and reasonable, 
which appeals to the common 
sense, which is commensurate with 
knowledge and, above all which all 
has a build-in corrective.”
Clearly states that rationality is an 
important basis of the scientific 
method, and the attitude of mind 
that we can easily understand 

by the methods of science, and 
understanding the philosophy of life 
is the essence of science.

96.	 Option (3) is correct.

Explanation: A pronoun is a word 
used in place of a noun. 'This’ is 
a demonstrative pronoun. In the 
above sentence, ‘this’ specifies some 
attitude of mind, culture, and some 
philosophy of life.

97.	 Option (4) is correct.

Explanation: The synonym of the 
word ‘untempered’ is ‘irrational.’
Untempered means are unreasonable. 
'Irrational' means without reason or 
logic. So, the word with the same 
meaning is ‘irrational.’

98.	 Option (2) is correct.

Explanation: The word 'prejudiced' 
means a preconceived opinion that 
may not be logical.
The word 'indifferent' means uncon-
cerned. So, the most proper antonym 
of the word 'prejudiced' is 'indifferent'.

99.	 Option (4) is correct.

Explanation: With reference to the 
line from paragraph: "In fact, science 
is nothing more than questions 
asked and questions answered, and 
the method of science, no more than 
a method of asking questions and 
answering them."
The word 'them' is missing, and thus 
the sentence is incomplete.

100.	 Option (3) is correct.

Explanation: These lines are taken 
from the poem 'The Last Ride 
Together' by Robert Browning.
“Those deep dark eyes where pride 
demurs
When pity would be softening 
though,
Fixed me a breathing while or twos
With life or death in the balance 
right!”
The above-mentioned lines show that 
the pride of the beloved stands in the 
way of his lover's success, and there 
is a conflict between pride and pity.

101.	 Option (4) is correct.

Explanation: The following line from 
the poem, ‘The Last Ride Together’ by 
Robert Browning,
“So, one day more am I deified, who 
knows next but the world may end 
to-night?
This line shows the poet in a sombre 
mood when he is contemplating his 
future with his beloved, which hangs 
in vain and is a matter of life and 
death for him.

102.	 Option (1) is correct.

Explanation: What will happen to the 
lovers at the end of the ride?

The main idea of the poem ‘The Last 
Ride Together’ by Robert Browning, 
revolves around the “last ride." In 
this context, the poet weaves his 
thoughts. The poet desires to take 
a last ride with his beloved before 
breaking the relationship.

103.	 Option (2) is correct.
Explanation: 'Metaphor' is a figure of 
speech which makes the comparison 
between two distinct things denote 
a likeness between them. Here the 
poet is comparing himself to God. 
He feels like a deity when he rides 
and breathes with his beloved. So, the 
figure of speech is a 'metaphor'.

104.	 Option (4) is correct.
Explanation: Personification is a 
figure of speech used to attribute 
human characteristics to something 
not human. It can also be used to 
personify an abstract quality. In the 
sentence, ‘with life and death in the 
balance,’ life and death are being 
personified here to be in balance.

105.	 Option (3) is correct.
Explanation: “At the end the lover 
feels like he’s in heaven” is correct as 
the poet feels like a deity by riding 
beside his beloved.
The line from the poem, “my last 
thought was at least not vain;” shows 
at least his one request has been 
granted.” So, it is true.

106.	 Option (3) is correct.
Explanation: Language is a symbolic 
rule-governed system. Phonological 
rules govern how sounds are 
combined to form words. Syntactic 
rules govern the way symbols can 
be arranged. Semantic rules help 
us understand the meaning of 
individual words. Pragmatic rules 
tell us what uses and interpretations 
of a message are appropriate in the 
given context. So, it is right to say that 
language is rule-governed.

107.	 Option (2) is correct.
Explanation: The total physical 
response is a language teaching 
method developed by James Asher, 
a professor emeritus of psychology at 
San Jose State University. It is based 
on the coordination of language and 
physical movement. The method is 
an example of the ‘comprehension 
approach’ to language teaching 
where instructors give commands 
to students in the target language 
with body movements, and students 
respond with whole-body actions.

108.	 Option (1) is correct.
Explanation: The following 22 
languages are listed in the 8th 
schedule of the Indian constitution.
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1.	 Assamese	 2.	 Bengali
3.	 Gujarati	 4.	 Hindi
5.	 Kannada	 6.	 Konkani
7.	 Malayalam	 8.	 Manipuri
9.	 Marathi	 10.	 Odia
11.	 Punjabi	 12.	 Sanskrit
13.	 Sindhi	 14.	 Urdu
15.	 Tamil	 16.	 Telugu
17.	 Bodo	 18.	 Santhali
19.	 Maithili	 20.	 Dogri.

109.	 Option (3) is correct.

Explanation: Inputs include text-
books, learner-chosen texts, and 
class libraries. These inputs and the 
environment enriched with these 
types of resources can help with the 
disability interpret and comprehend 
a language and the ability to under-
stand and use it. Practitioners seize 
every opportunity to use language, 
interact and encourage turn-taking.

110.	 Option (4) is correct.

Explanation: Skimming is a reading 
technique involving rapid eye 
movements and keywords to move 
quickly through text to get to the 
gist of the text. A skimmer ignores 
or skips unnecessary information to 
get to the main idea to get an overall 
understanding of the text. There are 
three types of skimming: preview, 
overview, and review. Reading long 
novels and non-fiction materials is 
the best example of skimming.

111.	 Option (2) is correct.

Explanation: Vocabulary, pronuncia-
tion, and grammar are form-
oriented language inputs. They are 
helpful while learning the language. 
Form-oriented input focuses on 
ways of using language: linguistic 
competence; discourse competence; 
sociolinguistic competence; strategic 
competence. Language inputs come 
in the form of teacher talk and listen-
ing activities. Reading passages, 
and the language heard and read 
outside of class. They help learners 
with the material they need to begin 
producing language themselves.

112.	 Option (1) is correct.

Explanation: An individual's vocabu-
lary is defined by the words they 
extensively use, as opposed to those 
they can understand when used by 
others. Also called active vocabulary; 
or working vocabulary.

113.	 Option (3) is correct.

Explanation: Procedural knowledge, 
also known as imperative knowledge, 
is the type of knowledge exercised 
in the performance of a task. It is 
basically "how" you know to do some-
thing. A classic example is riding a 
bicycle.

Procedural knowledge in language 
helps learners to learn grammar, and 
its structures and apply it while com-
municating. It is goal-oriented and 
mediates problem-solving behaviour.

114.	 Option (2) is correct.
Explanation: Process writing is an 
approach to teaching writing that 
allows the teacher and the students to 
go through the process of producing 
a text together.
A process approach to writing 
contrasts with a product approach, 
where the main idea is to reproduce 
a model text.
A typical process writing lesson 
usually includes the following phases;
n	Pre-writing
n	Writing
n	Revising
n	Editing
Process writing fosters creativity, and 
encourages collaborative work.

115.	 Option (1) is correct.
Explanation: An extrapolative writ-
ing task needs imagination and 
prediction before doing something.
Here, the boy is writing a letter to 
his friend describing the experience, 
and thinking about various things 
while writing. This task enhances 
their writing as well as their thinking 
process.

116.	 Option (4) is correct.
Explanation: Embedded pedagogy 
is to teach with those methods that 
can help in learning while doing or 
using those materials that are realistic 
and knowledgeful. Every experience 
of life adds to the earlier knowledge 
and helps to create and develop 
innovative ideas.

117.	 Option (1) is correct.
Explanation: Basic interpersonal 
communication skills (BICS) are 
often referred to as "playground 
English", "survival English", or "social 
language". BICS is part of a theory 
of language proficiency developed by 
Jim Cummins.
It is context embedded, meaning 
the conversation is face-to-face and 
offers many cues to the listener such 
as facial expressions, gestures, and 
concrete reference objects.
It is a cognitively undemanding lang-
uage which means that it is easy to 
understand, deals with everyday 
language and occurrences, and uses 
a simple language structure.

118.	 Option (2) is correct.
Explanation: Formative assessment, 
formative evaluation, formative 
feedback, or assessment for learning, 
including diagnostic testing, is a range 

of formal and informal assessment 
procedures conducted by teachers 
during the learning process to modify 
teaching and learning activities to 
improve student attainment.
The goal is to increase students' 
motivation and learning which 
requires productive feedback that 
will pinpoint their strengths, and 
help them to develop their strengths 
even further.
Assessment of learning is summative 
in nature occurring at the end of a 
class, course, semester, or academic 
year.
Assessment as learning evaluates 
a child's own and his/her peer's 
work against well-defined criteria or 
learning goals.

119.	 Option (3) is correct.

Explanation: National Education 
Policy 2020 recommends the study 
of classical languages as an additional 
option.
In addition to Sanskrit, other classical 
languages, and literature of India, 
including Tamil, Telugu, Kannada, 
Malayalam, Odia, Pali, Persian, and 
Prakrit, will also be widely available 
in schools as options for students, 
to ensure that these languages and 
literature stay alive and vibrant.
A language becomes dead when it 
has no more native speakers. So, it is 
especially important to revive them 
by including them in the school 
curriculum as an optional subject.

120.	 Option (1) is correct.

Explanation: Mutual dictation is a 
group activity where the students 
are divided into pairs and are asked 
to dictate parts of the text to each 
other and then collectively combine 
the total text.
It helps to develop listening, reading, 
and writing skills interactively.

Language: Hindi

121.	 fodYi (1) mfpr gSA
O;k[;kµukyUnk fo'ofo|ky; esa iqLrdky; 
dk fuekZ.k ckykfnR; us djok;k FkkA fo'kkyrk] 
fu;ec¼rk vkSj lqçca/k osG fopkj ls ukyank 
dk fo'ofo|ky; orZeku dk'kh dh vis{kk 
vkWDlQksMZ ls vf/kd feyrk&tqyrk FkkA blls 
lEcU/k j[kus okyk iqLrdky; ukS&eaftyk FkkA

122.	 fodYi (3) mfpr gSA
O;k[;kµukyUnk fo'ofo|ky; esa pkSeaftyk 
bekjrsa ckS¼ f'k{kdksa vkSj çpkjdksa ds fy, 
cuh FkhaA muds flok Å¡ph&Å¡ph ehukjksa vkSj 
fo'kky Hkouksa esa ukuk izdkj ds cgqewY; jRu 
Hkh tM+s gq, FksA

123.	 fodYi (2) mfpr gSA
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O;k[;kµfo'kkyrk] fu;ec¼rk vkSj lqçcU/k 
ds fopkj ls ukyank dk fo'ofo|ky; orZeku 
dk'kh dh vis{kk vkWDlQksMZ ls vfèkd feyrk& 
tqyrk FkkA blds fogkjksa esa dbZ nl gtÛkj fHk{kq 
fo|kFkhZ vkSj Ms<+ gtÛkj v/;kid jgrs FksA
dk'kh fo'ofo|ky; ls cukjl fgUnw 
fo'ofo|ky; dks dk'kh fo'ofo|ky; ds uke 
ls tkuk tkrk gS] bldh LFkkiuk enueksgu 
ekyoh; th us dh FkhA r{kf'kyk fo'ofo|ky; 
ls Hkkjr dk çkphu f'k{kk dsaæ] orZeku esa 
ikfdLrku esa vofLFkr gS] bldh LFkkiuk Hkjr 
ds iq= r{k us dh FkhA dksfVY; us ;gh f'k{kk 
xzg.k dh FkhA
foØef'kyk fo'ofo|ky; ls Hkkjr dk çkphu 
f'k{kk dsaæ] orZeku esa fcgkj ds Hkkxyiqj esa 
vofLFkr gS] bldh LFkkiuk jktk èkeZiky us 
dh FkhA

124.	 fodYi (4) mfpr gSA
O;k[;kµfo|kyksyqi phuh lU;klh ukyank dh 
HkO;rk vkSj ifo=rk dks ns[kdj yV~Vw gks x;kA 
;gk¡ Å¡ps&Å¡ps fogkj vkSj eB pkjksa vksj [kM+s 
FksA chp&chp esa lHkkx`g vkSj fo|ky; cus 
gq, FksA os lc lekf/k;ksa] efUnjksa vkSj Lrwiksa 
ls f?kjs gq, FksA
HkO; bekjr dks lqanj bekjr dks ns[kus ds 
cknA lekf/k;ksa vkSj eafnjksa dks fgUnqvksa ds 
ifo= LFky eafnj dks dgk tkrk gS] fdlh e`r 
ds 'ko nQukus dk LFkku lekf/k dgykrk gSA
Nrksa vkSj [kEHkksa dks ftl ij Nr fVdh gS] mls 
[kEHkk dgk tkrk gS] vkSj Nr ftldh otg ls 
O;fä Nk¡o vkSj /kwi ls cprk gSA

125.	 fodYi (2) mfpr gSA
O;k[;kµpkSeaftyk esa f}xq lekl gksxkA 
pkSeaftÛyk vFkkZr~ pkj eaftÛy dk lekgkjA ;fn 
fdlh lkekfld in esa çFke in la[;kokpd 
'kCn gks ,oa f}rh; in laKk 'kCn gks rFkk 
leLr in lewg dk cks/k djok, rks mls f}xq 
lekl dgrs gSaA mnkgj.k ds fy, nksjkgk = 
nks jkgksa dk lekgkjA

126.	 fodYi (3) mfpr gSA
O;k[;kµ^yV~Vw gksuk* vFkkZr~ fdlh Hkh O;fDr 
dk dk;y gks tkuk gksrk gSA ^eqgkojk* 'kCn 
vjch Hkk"kk dk gS ftldk vFkZ ^vH;kl 
gksuk* gksrk gSA ;g vius lkekU; vFkZ dks 
NksM+dj vlkekU; vFkZ izdV djrk gSA Hkk"kk 
dh le`f¼ vkSj mldh vfHkO;fDr {kerk ds 
fodkl gsrq eqgkojksa dk iz;ksx mi;ksxh gksrk 
gSA ftl Hkk"kk esa budk ftruk vf/kd iz;ksx 
gksxk] mldh vfHkO;fDr {kerk mruh gh  
izHkkoiw.kZ o jkspd gksxhA

127.	 fodYi (4) mfpr gSA
O;k[;kµ^fo|kyksyqi* dk 'kkfCnd vFkZ 
ftKklq gksxk D;ksafd phuh lU;klh fo|kyksyqi 

O;fDr Fkk tks ukyUnk dh HkO;rk vkSj ifo=rk 
ns[kdj yV~Vw gks x;k FkkA

128.	 fodYi (2) mfpr gSA
O;k[;kµ^vkdk'k ls ckrsa djus* dk vFkZ 
cgqr Å¡pk gksuk gSA

129.	 fodYi (4) mfpr gSA
O;k[;kµLokoyEcu ds vusd ykHk gSaA 
Lokoyach euq"; esa vusd xq.k Lor% gh vk 
tkrs gSa] tSlsµvkRefo'okl] vkRelEeku] n`<+ 
ladYi] lkgl] /kS;Z bR;kfnA blfy, blesa 
la'k; dk dksbZ LFkku ugha gksrkA
vkRefo'okl viuh 'kfä ,oa ;ksX;rk ij 
fo'okl 
n	tSlsµ'kSf{kd lQyrkvksa us mUgs LoLFk 

vkRefo'okl çnku fd;k
n	n`<+ ladYiµ,slh 'kfä ftls nqfu;k dh 

dksbZ Hkh rkdr rksM+ u lds tks vius y{; 
ls dHkh foeq[k u gksA

n	Lokeh foosdkuan n`<+ ladYi ls ;qä O;fä 
FksA

n	/kS;Z dk vFkZµ/khjrk
n	/kS;Z dM+okgV iw.kZ gks ldrk gS] ysfdu 

bldk Qy ehBk gksrk gSA
130.	 fodYi (1) mfpr gSA

O;k[;kµvkRefuHkZjrk ls dk;jrk] Hk;] la';] 
vkyL; rFkk fpUrk nwj gks tkrh gSA blls O;fDr 
vusd d"Vksa ,oa ck/kkvksa dks in&nfyr djrk 
gqvk daVdkdh.kZ ekxZ ij fuHkZjrkiwoZd vkxs 
c<+rk tkrk gSA
n	dk;jrk dk vFkZµMjiksdiuA
n	mlds thou esa dk;jrk tSlh dksbZ pht 

ugh gSA
n	la'k;µlansg A eq>s mldh djrwr ij la'k; 

gqvkA
n	fpark&mnklhA eq>s mlds psgjs ij fpark 

utj vkbZA
n	vkyL; lqLrh vkSj fudEekiu
n	mldk vkyL; mldh thou 'kSyh dks 

çHkkfor djrk gSA
131.	 fodYi (2) mfpr gSA

O;k[;kµLokoyEch euq"; esa vusd xq.kksa dh 
l`f"V bZ'oj us dh gSA og Hkyh&Hkk¡fr le> 
ysrk gS fd og euq"; gSA vkRefuHkZjrk ls 
O;fDr vusd d"Vksa ,oa ck/kkvksa dks in nfyr 
djrk gqvk daVdkdh.kZ ekxZ ij fuHkZjrkiwoZd 
vkxs c<+rk gSA

132.	 fodYi (1) mfpr gSA
O;k[;kµin&nfyr esa rRiq#"k lekl gSA 
in&nfyr vFkkZr~ in ls nfyrA lekl dk og 
:i ftlesa f}rh; in ;k mÙkj in izèkku gks mls 
rRiq#"k lekl dgrs gSaA rRiq#"k lekl esa izFke 
in laKk ;k fo'ks"k.k gksrk gS vkSj fyax&opu dk 
fu/kkZj.k vfUre ;k f}rh; in ds vuqlkj gksrk 
gSA mnkgj.k ds fy, xq.kjfgrµxq.k ls jfgrA

133.	 fodYi (1) mfpr gSA
O;k[;kµlnSo dk laf/k&foPNsn lnk $ ,o 
gksxkA tc nks o.kks± dk feyu vR;Ur fudV 
dkj.k gksrk gS rc muesa dksbZ u dksbZ ifjorZu 
gksrk gS vkSj ogh ifjorZu laf/k ds uke ls tkuk 
tkrk gSA nks 'kCnksa ds esy ls cus 'kCn dks iqu% 
vyx&vyx djuk lfU/k foPNsn dgykrk gSA 
lnSo esa o`f¼ lfU/k gSA

134.	 fodYi (2) mfpr gSA
O;k[;kµekrk 'kCn esa ^rk* izR;; dk iz;ksx 
ugha gSA ekrk ewy 'kCn gS blfy, blesa dksbZ 
izR;; ugha gSA tcfd nkl $ rk = nklrk] 
fuHkZj $ rk = fuHkZjrk] ik= $ rk = ik=rk 
esa ^rk* izR;; gSA

135.	 fodYi (4) mfpr gSA
O;k[;kµLokoyEch O;fDr ls vkRecy dk 
R;kx visf{kr ugha gSA og Hkyh&Hkk¡fr le> 
ysrk gS fd og euq"; gS rFkk mlesa bZ'oj us 
vusd xq.kksa dh l`f"V dh gSA blfy, fujk'k 
gksuk mldk /keZ ugha gSA fujk'k ds {k.kksa esa 
Hkh mls vkRefo'okl ,oa vkRecy dk R;kx 
ugha djuk pkfg,A
n	Lo;a esa fo'okl vkRefo'okl 
n	fuHkhZd gksuk lkgl
n	vkRefuHkZjrk vkRecy A

136.	 fodYi (4) mfpr gSA
O;k[;kµjk"Vªh; f'k{kk uhfr ekr`Hkk"kk@?kj 
dh Hkk"kk] 'kkL=h; Hkk"kk,¡] vk/kqfud Hkkjrh; 
Hkk"kk,¡ rFkk fons'kh Hkk"kk,¡ bR;kfn ds v/;;u 
dh odkyr djrh gSaA ubZ f'k{kk uhfr 2020 
Hkkjr dh f'k{kk uhfr gS ftls Hkkjr ljdkj }kjk 
29 tqykbZ 2020 dks ?kksf"kr fd;k x;kA ;g uhfr 
vUrfj{k oSKkfud ds-dLrwjhjaxu dh v/;{krk 
okyh lehfr dh fjiksVZ ij vkèkkfjr gSA
Hkk"kk;h fofo/krk dk laj{k.k
bl f'k{kk uhfr esa ik¡poha d{kk dh f'k{kk esa 
ekr`Hkk"kk@LFkkuh; ;k {ks=h; Hkk"kk dks v/;kiu 
ds ek/;e ds :i esa viukus ij cy fn;k 
x;k gSA
jk"Vªh; dh vko';drkvksa rFkk lafo/kku ds 
vko';drkvksa ds vuq:i f'k{kk ds fofHkUu 
Lrjksa ij iS<+kbZ tkus okyh leL;kvksa ij dsaæh; 
f'k{kk lykgdkj ifj"kn (CABE) us lu~ 1956 
esa fopkj&foe'kZ djds f=Hkk"kk lw= çLrqr 
fd;kA
n	f=Hkk"kk lw= dk 'kCnkFkZ gS rhu Hkk"kkvksa 

okyk lw=
n	dsaæh; f'k{kk ijke'kZ cksMZ us lsdsaMjh vk;ksx 

ds lq>ko dk leFkZu ugha fd;k vkSj lu~ 
1956 esa f=Hkk"kk lw= dk fuekZ.k fd;kA

n	blds vuqlkj ek/;fed Ldwy ds çR;sd 
fo|kFkhZ dks ikBîØe ds tfj, 3 Hkk"kk,a 
i<+kuh gksxhA

137.	 fodYi (1) mfpr gSA
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O;k[;kµ,d cPph vius ekrk&firk ds lkFk 
fcgkj ls eqEcbZ vkrh gS rFkk og fo|ky; esa 
fgUnh] laLÏr rFkk vaxzsth lh[krh gS rFkk og 
fo|ky; esa fgUnh] laLÏr rFkk vaxzsth lh[krh 
gS rFkk vius iM+ksl ,oa fo|ky; esa vius 
fe=ksa ls ejkBh Hkk"kk cgqr vPNs ls lh[krh 
gSA ejkBh lh[kuk Hkk"kk vtZu dh izfØ;k esa 
'kkfey gksrk gSA
Hkk"kk vtZu dk fl¼kUr eq[;r% pkWEldh dk 
fn;k gqvk gSA muds vuqlkj cPpksa esa Hkk"kk 
lh[kus dh tUetkr {kerk gksrh gSA
n	lkoZHkkSfed O;kdj.k dk fu;e crk;kA
n	u, 'kCn lh[kukA
n	fuf'pr le; esa vuqdj }kjk Hkk"kk fu;e 

tkuukA
138.	 fodYi (3) mfpr gSA

O;k[;kµfdlh f'k{kkFkhZ dks ,d ikB~; lkexzh 
i<+rs le; dqN ladsr feyrs gSa tks mls vFkZ 
xzg.k dh izfØ;k esa enn djrs gSaA ;g vFkZxr 
ladsr :i esa tkuk tkrk gSA ladsr Hkk"kk ,d 
,slh Hkk"kk gS] tks vFkZ lwfpr djus ds fy, 
Jo.kh; /ofu iSVuZ esa lEizsf"kr djus ds ctk; 
n`'; :i esa gLrpkfyr lEizs"k.k] vax&ladsr 
bR;kfn :i esa lapkfjr djrh gSA tgk¡ Hkh cf/
kj yksxksa dk leqnk; ekStwn gks] ogk¡ ladsr Hkk"kk 
dk fodkl gksrk gSA
ljljh n`f"V ls i<+uk O;kid ;k æqr iBu ;k 
ljljh n`f"V ls i<+us esa ikBd viuh #fp ds 
fo"k; dh lkekU; le> çkIr djus ds fy, 
dsoy ljljh n`f"V ls dbZ çdkj dh iqLrdksa] 
lekpkj i=ksa] if=dkvksa vkfn dks i<+rk gSA 
ckjhdh  ls i<+ukµxgu i<+us ;k ckjhdh ls 
i<+us dk laca/k d{kk esa lh[kus ls gS] ftlesa 
Nk= dks fo"k; dks xgjkbZ ls le>us ds fy, 
dbZ ckj dqN ikB ckjhdh ls i<+us ds fy, 
crk;k tkrk gSA

139.	 fodYi (3) mfpr gSA
O;k[;kµJo.k dh v/kkseq[kh izfØ;k esa 
eq[; fopkj le>uk] vuqeku yxkuk fu"d"kZ 
vkjsf[kr djuk rFkk lkjka'k fy[kuk lfEefyr 
gSA Jo.k ,d izfØ;k gS ftlds }kjk oDrk dks 
Lohdkj fd;k tkrk gS rFkk mlds lUns'k dk 
vFkZ le>dj mlds izfr viuh vuqfØ;k nsuk 
Hkh gksrk gSA ,DLVªkiksysfVo iz'u rFkk lkjka'k 
ys[ku xfrfof/k v/kkseq[kh Jo.k izfØ;k dks 
izksRlkgu nsrh gSA
,DLVªkiksysfVo iz'uµ,sls ç'u tks Kkr 
tkudkjh dk foLrkj dj fu"d"kZ fudky ldsA
lkjka'k ya[kuµewy vorj.k ds Hkkoksa] 
voLFkk] fopkjksa dks la{ksi esa fy[kus dh fØ;k 
dks lkjka'k ys[ku dgrs gSaA
tcfd Å/oksZUeq[kh izfØ;k esa ,d Jksrk lqurs 
le; fof'k"V rF; lqurk gS] 'kCnksa ds lewg 

dks igpkurk gS vkSj 'kCn Øeksa ds uewus 
igpkurk gSA

140.	 fodYi (1) mfpr gSA
O;k[;kµlaKk,¡] fØ;k,¡] fo'ks"k.k] 
fØ;k&fo'ks"k.k lHkh fo"k;oLrq ds 'kCn ds 
:i esa oxhZÏr fd, x, gSaA dYiuk] fopkj 
vkfn ds :i esa jgusokyk og ewy rÙo ftls 
vk/kkj ekudj dykRed jpuk dk l`tu fd;k 
x;k gksA fdlh Hkh Ïfr dk ewy fopkj gh 
mldh fo"k;oLrq gksrh gSA
laKkµfdlh O;fDr] oLrq] LFkku bR;kfnA
fØ;kµxfrfof/k
fo'ks"k.kµfdlh oLrq] O;fDr LFkku dh 
fo'ks"krk dk o.kZuA
fØ;k fo'ks"k.kµfØ;k dh fo'ks"krk crkus 
okykA

141.	 fodYi (2) mfpr gSA
O;k[;kµlajpukvksa ds ckjs esa Kku rFkk bls 
lhfer vH;kl }kjk of.kZr djuk ;k fØ;kfUor 
djuk gh ?kks"k.kkRed Kku dgykrk gSA
n	tkudkjh oSpkfjd] izLrkokRed ;k 

o.kZukRed Kku ds :i esaA
n	fo"k;ksa] phtÛksa] ?kVukvksa] ifj.kkeksa bR;kfn 

dh fo'ks"krkvksa dk o.kZuA
nwljs 'kCnksa esa] ;gk¡ fo|kFkhZ :i ;k iSVuZ lh[krs 
gSa vkSj f'k{kd dks ;g lqfuf'pr djuk pkfg, 
fd fo|kfFkZ;ksa ds eu esa çi= ogha LFkkfir gksA
n	;g f'k{kd dh ojh;rk ds vk/kkj ij fdlh 

Hkh n`f"Vdks.k ds ek/;e ls fd;k tk ldrk 
gSA

vr% fu"d"kZ fudyrk gS fd lajpukvksa ds ckjs 
esa Kku rFkk bls lhfer vH;kl }kjk of.kZr 
djuk o fØ;kfUor djuk ?kks"k.kkRed Kku gSA

142.	 fodYi (4) mfpr gSA
O;k[;kµçkÏfrd Hkk"kk esa lUnHkZ ls iBu 
lkexzh dk lzksr izkekf.kd iBu lkexzh 
gSA izkekf.kd lkexzh izkÏfrd Hkk"kk vkSj  
çkekf.kd laLÏfr ls lEcfU/kr gksrh gSA
çkekf.kd lkexzh os iBu xzaFk gSa tks ns'kh oäkvksa 
}kjk fy[ks x, Fks vkSj lekpkj i=ksa ;k if=dkvksa 
ds lanHkksaZ esa fo'ks"k :i ls ns'kh&oäkvksa ds 
fy, fMtkbu fd, x, Fks] ftlesa xSj&ns'kh 
igqap ds fy, dksbZ fopkj ugha fn;k x;k FkkA
çkekf.kd lkexzh dk mi;ksx djus ds ykHkµ
n	çkekf.kd lkexzh f'k{k.k ds fy, vf/kd 

jpukRed n`f"Vdks.k çnku djrh gSA 
n	çkekf.kd lkexzh dk f'k{kkFkhZ dh  

çsj.kk ij ldkjkRed çHkko iM+rk gSA 
çkekf.kd lkexzh çkÏfrd Hkk"kk vkSj  
çkekf.kd lkaLÏfrd tkudkjh ds laidZ 
esa vkrh gSA if=dkvksa ls rS;kj dh xbZ  
çkekf.kd lkexzh ges'kk vi&Vw&MsV gksrh gS 
vkSj yxkrkj viMsV dh tkrh gSA

n	çkekf.kd lkexzh f'k{kkfFkZ;ksa dh 
vko';drkvksa ls vf/kd fudVqrk ls lacaf/
kr gksrh gS vkSj mUgsa lh[kus ds fy, çklafxd 
lkexzh dk lzksr çnku djrh gSA blfy, 

;g fu"d"kZ fudkyk tk ldrk gS fd çkÏfrd 
Hkk"kk esa lanHkZ ls iBu lkekxzh dk L=ksr çkekf.
kd iBu lkexzh gSA

143.	 fodYi (3) mfpr gSA
O;k[;kµblesa ls Hkk"kk vkdyu ds ckjs esa 
f'k{kkfFkZ;ksa dh Hkk"kk;h fuiq.krk dk vkdyu 
djuk lgh gSA vkdyu dk vFkZ ikl cSBuk 
,oa voyksdu djuk gksrk gSA vkdyu Nk=ksa 
ds O;ofLFkr fodkl ds vk/kkj dk ,d 
lkèkkj.k&lk vuqeku gS ftlesa jpuk] p;u] 
fo'ys"k.k bR;kfn dk iz;ksx djds vf/kxe 
izfØ;k dks c<+kok fn;k tkrk gSA
Hkk"kk vkadyu dk mís';
n	=qfV;ksa dk fuokj.k djukA
n	Hkk"kk lh[kus dh izfØ;k dks mÙke cukukA

144.	 fodYi (1) mfpr gSA
O;k[;kµHkk"kk dh d{kk esa =qfV;ksa ds fo"k; 
esa =qfV;k¡ f'k{kkfFkZ;ksa rFkk f'k{kd nksuksa ds fy, 
lh[kus ds {ks= vkSj izfriqf"V ds fy, lgh gSA
lh[kus dh çfØ;k esa xyfr;k¡ djuk lh[kus 
gsrq ,d egÙoiw.kZ xfrfof/k gSA fo|kfFkZ;ksa 
ds ikl izfrfnu dh tkus okyh xyfr;ksa ;k 
=qfV;ksa dh ,d yEch lwph gksrh gSA lh[kus 
dh izfØ;k ,oa lh[kus dh fo"k;oLrq nksuksa gh 
lEc¼ =qfV;k¡ gksrh gSaA

145.	 fodYi (3) mfpr gSA
O;k[;kµ,d Hkk"kk f'k{kd lkekftd foKku 
ds lkfFk;ksa ds lkFk feydj ^Hkkjr dh 
lkaLÏfrd fofo/krk* ij iznÙk dk;Z nsrk gS@nsrh 
gSA f'k{kkfFkZ;ksa dks bl fo"k; ij fjiksVZ fy[kus 
rFkk iksLVj rS;kj djus ds fy, lkekftd foKku 
dh iqLrd rFkk bfrgkl] Hkwxksy] laLÏfr 
rFkk jktuhfr ls lEcfUèkr vU; iqLrdsa rFkk 
nLrkostÛksa dks i<+uk gSA Hkk"kk&vf/kxe dh ;g 
çfØ;k lewph ikB~;p;kZ esa Hkk"kk dgykrh gSA
Hkk"kk dks lh[kuk gh Hkk"kk vf/kxe gSA euq"; 
vius fopkjksa dks vfHkO;Dr djus ,oa lekt 
vkSj ifjos'k ds lkFk lkeatL; LFkkfir djus 
ds fy, Hkk"kk {kerk dk fodkl djrk gSA
Hkk"kk&vf/kxe dks çHkkfor djus okys dkjd
n	lkekftd ifjos'k
n	Hkk"kk vtZu dh bPNk

146.	 fodYi (1) mfpr gSA
O;k[;kµ,d f'k{kkFkhZ u, O;kdjf.kd 
:iksa dks lh[krs le; igys ls lh[ks gq,  
O;kdjf.kd fu;eksa dks vk/kkj cukrk@cukrh 
gSA bl vf/kxe dk rduhd dks laKkukRed 
;qfDr dgk tkrk gSA
laKkukRed
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n	dkS'ky dh izkjfEHkd vfHkKku ,oa 

vocksèkA
n	fo|kFkhZ dsfUær fcUnqA
n	fo|kFkhZ dks vf/kd dk;Z fu"iknu ;k 

vH;kl dh vis{kk ns[kus]fopkj djus] 
rdZ djus ij cyA

fuEu fcUnq ij /;ku nsuk vko';d gS tks bl 
izdkj gSµ
n	fo|kFkhZ dks dkS'ky ls lEcfU/kr vko';d 

tkudkjh ;k vuqns'k nsukA
n	bl voLFkk esa i;kZIr izn'kZ vko';d gSA

147.	 fodYi (3) mfpr gSA
O;k[;kµ,d f'k{kkFkhZ lhfer le> ds lkFk 
,d iBu lkexzh dks i<+ ikrh gSA og iBu 
lkexzh dks cgqr vPNh rjg i<+ ikrh gS rFkk 
vocks/ku dk;Z dks vius cM+s HkkbZ dh lgk;rk 
ls djrh gSA f'k{k.k&vf/kxe dk ;g vH;kl 
lgkjk feyuk gSA
:lh euksoSKkfud yso fleuksfop okbxksRldh 
us laKkukRed fodkl esa lkekftd vUr%fØ;k 
ij vf/kd cy fn;k gSA O;fDr dh mPp 
ekufld çfØ;k dh mRifÙk Hkh lkekftd 
izfØ;k ls gksrh gSA
lkekftd fodkl fl¼kUr dh fo'ks"krk,¡%
n	laLÏfr laKkukRed fodkl dks fn'kk nsrh 

gSA
n	lh[kuk fodkl dh vksj funsZf'kr dj ldrk 

gSA
n	cPps Kku dk l`tu djrs gSaA

n	cPps dh Hkk"kk] n{krk,¡ o vuqHko vkfn 
O;fDr dh lkaLÏfrd i`"BHkwfe ls çHkkfor 
gksrs gSaA

148.	 fodYi (1) mfpr gSA
O;k[;kµog dk;Z tks f'k{kkfFkZ;ksa dks 'kCnksa 
dh vkÏfr;ksa ls tqM+us] vFkZ fudkyus rFkk 
ç;ksx djus esa lgk;rk djrk gS og O;kdj.k 
lh[kus esa lEçs"k.kkRed dk;Z gSA
n	f'k{kd }kjk fHkUu rjhdksa dk bLrsekyA
n	Hkk"kk i<+kus ds vusd n`f"Vdks.kA
n	Hkk"kk esa dq'ky cukukA

149.	 fodYi (2) mfpr gSA
O;k[;kµO;kdj.k lh[kus esa lpsrurk esa o`f¼ 
djus okyh j.kuhfr O;kdj.k@Hkk"kk dks lUnHkZ 
esa izLrqr djuk f'k{kkfFkZ;ksa ds laKku esa ykuk 
o iz;ksx djus ds ;ksX; cukuk rFkk ckn esa 
mudk /;ku blds fu;eksa dh vksj fnykuk gSA
O;kdj.k f'k{k.k gh mfpr fof/k gSA Hkk"kk rc 
lh[kh tkrh gS] tc og Hkk"kk ds :i esa ugha 
i<+kbZ tkrh] cfYd lkFkZd lanHkksaZ ls tksM+dj 
mls i<+k;k tkrk gSA
n	jk"Vªh; ikBîp;kZ dh :ijs[kk 2005 us 

lanHkZ esa O;kdj.k ij fo'ks"k cy fn;k gSA
n	lanHkZ ds ;gk¡ nks vFkZ gSµ

l	Hkk"kk ç;ksx (okD; ç;ksx) dk lanHkZ
l	lkekftd lanHkZ (ftlesa Hkk"kk ç;ksx 

gksrk gS)A
n	Hkk"kk esa fufgr fu;ec¼rk ds çfr lpsr 

o laosfnr djuk lanHkZ esa O;kdj.k&f'k{k.k 
dk vlyh ç;kstu gSA

n	blds ek/;e ls O;kdj.k lwpuk dh oLrq 
ugha jg tkrk] cfYd vuqHkwfr dk fo"k; 
gks tkrk gSA bldk cM+k mís'; gSµHkk"kk;h 
ckjhfd;ksa ds çfr tkx:d o laosfnr 
djuk] rkfd lekt dh vFkZoSKkfud 
ckjhfd;ksa dks le> ldsa vkSj rnuqlkj 
ç;ksx dj ldsaA

vr% ge dg ldrs gSa fd O;kdj.k@Hkk"kk dks 
lanHkZ esa çLrqr djuk f'k{kkfFkZ;ksa ds laKku esa 
ykuk o ç;ksx djus ds ;ksX; cukuk rFkk ckn 
esa mudk /;ku blds fu;eksa dh vksj fnykuk 
O;kdj.k lh[kus esa lpsrurk esa o`f¼ djus 
okyh j.kuhfr gSA

150.	 fodYi (4) mfpr gSA
O;k[;kµvf/kxe ds fl¼kUr ds :i esa 
jpukokn dk fo'okl gS fd cPps vius iwoZ 
Kku ls tksM+dj lh[krs gSaA
jpukokn ewyr% ,d fl¼kUr gS tks fujh{k.k 
,oa oSKkfud vè;;u ij vk/kkfjr gksrk gSA ;g 
gesa crkrk gS fd O;fDr lh[krk dSls gS\ Vkseh 
QqLkuksV us jpukokn ds lEcU/k esa pkj fl¼kUr 
crk;s gSaµ
n	tks ge igys ls tkurs gSa vf/kxe ml ij 

fuHkZj djrk gSA
n	u;s fopkjksa dk mn; vius iqjkus fopkjksa 

esa cnyko ,oa lekfgr djus ij gksrk gSA
n	vf/kxe fopkjksa dh [kkst gS u fd ek= 

;kfU=d rjhds ls fopkjksa dk laxzgA
n	lkFkZd vf/kxe iqjkus fopkjksa ij iqu% 

lkspus rFkk fopkjksa ds ckjs esa uohu fu"d"kZ 
fudkyus ls gksrk gSA


